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Who among the following contended that "the value of criminal statistics as a basis for measurement of
criminality decreases as the procedures take us farther away from the offence itself"?

1. Thorsten Sellin
2. Edwin H. Sutherland
3. Donald R. Cressey
4. Charles B. Goring
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Who among the following in his Dictionary of the Underworld' defines gang as thieves or other criminals who
work under the force of associated ideas?

1. Eric Partridge

2. Donald R. Cressey
3. Peter Mass

4. Edwin H Sutherland
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Who among the following claimed that victimology has no place within the bounds of criminology and that it
should be a separate and autonomous science with its own institutions?

1. Willem H Nagel
2. J. Newman
3. Benjamin Mendelsohn
4. Marvin E. Wolfgang
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(3) 3
(4) 4
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The habit of relapsing into crime even after correctional process in a penal institution is called

1. Recidivism
2. Sapphism
3. Fetishism
4. Triolism
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The Observation Homes are established under Juvenile Justice (Care and Protection of Children) Act 2015 for
the following purpose:

1. To observe the deviant behaviour of juveniles.

2. For the temporary reception of juveniles during the pendency of any inquiry regarding them
3. To diagnose the juvenile's aptitude for job.

4. To provide behavioural therapy to the juvenile.
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Under the Juvenile Justice (Care and Protection of Children) Act, 2015, all measures shall be taken to ensure that
the child is safe and is not subjected to any harm, abuse or maltreatment while in contact with the care and
protection system and thereafter. Which of the following principle governs such measures?

1. Principle of positive measure
2. Principle of child protection
3. Principle of safety
4. Principle of non-waiver of rights
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(3) 3
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As per section 4(2) of the Juvenile Justice (Care and Protection of Children) Act, 2015, who can be appointed as
the Chairperson of the Juvenile Justice Board?

1. Session Judge

2. District Judge

3. Judicial Magistrate of First Class
4. Chief Judicial Magistrate
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The National Crime Records Bureau launched a comprehensive and integrated system for effective policing
through e-governance, which is known as :

1. Criminal Tracking System

2. Common Tracking System

3. Crime and Criminal Network

. Crime and Criminal Tracking Network and system
1) 1

(2 2

(3) 3

(4) 4

S URTY RBTS SR GRI 37019 b HIHH J YHTA! GIIARET 8d U gAY SR Thihd YUITE! Bl 3RH
ERUEIGIFAERET RIS

. ORTef} @I (2fdT) ot
AR @I (SfebaT) YuTedl
. 3IRTY 3R ORI Heads

. {URT 3R ORI @i (SfdT) eads ud yorra!
(1) 1
(2) 2
(3) 3
(4) 4

=

L e B

=

1[Option ID=18729]
2[Option ID=18730]
3[Option ID=18731]
4[Option ID=18732]

Sl. No.9
QBID:168009




Which of the following is NOT a condition of Probation ?

1. Suspension of sentence
2. Supervision by probation officer
3. Release from prison after completing a specified portion of prison sentence
4. Conditional release
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The United Nations Standard Minimum Rules for Treatment of Prisoners is now known as :

1. Prison Rules
2. Mandela Rules
3. Beijing Rules
4. Hague Rules
1) 1
2) 2
(3) 3
4) 4
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How many members does a Child Welfare Committee, including the chairperson, have ?

1. Two
2. Three
3. Five
4. Six
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Critical Victimology is a product of the work of :

1. Gill and Giddens

. Mawby and Walklate
. Spalek and Pizzey

. Laster and Raman
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"There are two types of criminals: the social criminal and the individualized criminal". Who gave this
classification/typology?

utherland and Cressey
Lindesmith and Dunham
4. Clinard and Quinney
1) 1
(2) 2
3) 3
(4) 4
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According to . Juvenile delinquency applies to the violation of criminal code and/or pursuit of certain
patterns of behaviour disapproved for children and young adolescents.

1. Richard Jenkins
2. Walter Reckless
3. Albert Cohen
4. E.H. Sutherland

11

2) 2

(3) 3

4) 4

frofead # I fhud S aR, fhR T=R, SORTY Higdl B Iewa SR/A1 dTdd! a4 gaT [bRIRT &
3P d HIGR & P© WAl & TR0 IR AN GIdl 67

1. =8 S
2. dlee gy
3. 3fesc dlgd
4.3 0. GeRIUS

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=18753]
2[Option ID=18754]
3[Option ID=18755]
4[Option ID=18756]

Sl. No.15
QBID:168015

Which of the following Jails Committee recommended segregating offenders on the basis of sex, age, conviction
and type of offender?

1. Indian Jails Committee, 1836
2. Indian Jails Committee, 1864
3. Indian Jails Committee, 1919
4. All India Jail Reforms Committee, 1980
1) 1
(2) 2
(3) 3
4) 4
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In the legal approach to misconduct of a juvenile, the stress is on the:

1. Specific charge be levelled against the defendant
2. Age and conduct of juvenile

3. Anti-social traits

4. Deviation from the group norms
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"Waywardness' or Incorrigibility’ incluides the behaviour form :

1. Nail biting
2. Temper tantrums
3. Truancy
4. Robbery
1) 1
(2) 2
(3) 3
4) a4
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According to Juvenile Justice (Care and Protection of Children) Act, 2015, which of the following is the
benchmark for determination of juvenility?

. The date on which FIR is registered

. The date of conviction

. The date of commission of the offence
. None of the above
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Who developed the theory of Differential Association?

1. E.H. Sutherland
Shaw and Mckay
Robert Walters

4. David Matza
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The United Nations Standard Minimum Rules for the Administration of Juvenile Justice, 1985 is referred as:

1. The Tokyo Guidelines

. The Riyadh Guidelines

. The Beijing Rules

. UN Guidelines and Rules
1
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The proceedings of the Juvenile Justice Board against children in conflict with law is called :

1. Ordinary Trial

2. Juvenile Procedure
3. Special Procedure

. Criminal Procedure
1
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Which section of Juvenile Justice (Care and Protection of Children) Act, 2015 provides for the establishment of
Observation Homes?

1. Section 47
. Section 8

. Section 44
. Section 28
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The first women jail was established in India in

1. Delhi
Tamil Nadu
Kerala
4. Maharashtra
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Who coined the term 'Carceral Clawback' ?

1. Carol Smart

2. Otto Pollak

3. Manuel Castells
4. Pat Carlen
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Which among the following is INCORRECT about the National Investigation Agency Act, 20087

1. The superintendence of National Investigation Agency shall vest in the Central Government

2. The Act extends to the whole of India and it applies also to citizens of India outside India

3. Schedule to the Act covers offences under Chapter VI of the Indian Penal Code

. The National Investigation Agency, while investigating any Scheduld Offence shall not investigate any other
offence, which the accused is alleged to have committed, whether connected or not connected to the
Scheduled Offence.
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Who among the following called the offender and victim as a 'Penal Couple' to estabish the victim-offender
relationship?

1. Benjamin Mendelsohn
2. Marvin Wolfgang
3. Hans Von Hentig
4. Stephen Schafer
1) 1
(2 2
(3) 3
(4) 4
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The view that victimization results from the interaction of suitable targets, absence of capable guardians, and the
presence of motivated offenders is :

1. Life Style Theory

2. Strain Theory

3. Peace Making Criminology
4. Routine Activities Theory
1) 1

(2 2

3) 3

(4) 4
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Who is the author of concept 'classic delineation of the tripartite boundaries of criminology as the study of the
processes of making laws, breaking laws and reacting towards the breaking of laws' ?

1. Frank Cullen

. Edwin Sutherland
. Travis Hirchi

. Nicholas Lovrich
1) 1

(2) 2

(3) 3

4) 4
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Which of the following is a major feature of Radical Criminology?

1. It is concerned with the causation of crime and punishment and correction of criminals

. It explains deviance by reference to some social or personal pathology

. It attempts to correct and control the excesses of a primitive and repressive judicial system.

. It explains the fact of deviance with reference to the society within which it occurs, and gives importance to
the social power.
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Committee to suggest the reforms in law relating to sexual violence against women was headed by :

—

ustice Krishna Iyer
ustice Leila Seth

. Justice J.S. Verma
ustice A.N. Mulla

—
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Under the Protection of Women from Domestic Violence Act, 2005, there is a provision of :

1. Probation Officer
2. Welfare Officer
3. Protection Officer
4. Case Worker
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Which one among the following is NOT related to 'Situational Crime Prevention' ?

1. CPTED (Crime Prevention through Environmental Design)
2. Defensible space
3. Protecting suitable target

4. Absence of capable guardian

1) 1
(2) 2
3) 3
(4) 4
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Which among the following theory emphasized that behaviour occurs when the actor considers it useful,

oy

purposeful and reasonable?

1. Strain

2. Labelling

3. Utilitarianism
4. Anomie

1) 1

(2) 2

3) 3

4) 4
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QBID:168034

The Pennsylvanian System was first introduced in the Walnut Street Prison in Philadelphia in

1. 1770
. 1780
. 1790
. 1760
11
(2) 2
(3) 3
4) 4

Uf_qar-ars Yol & fharsiehal fRUd aia-e }ie T 4 gedl aR fdd ay & SRy faear mam

d b

=

1. 1770
2.1780
3.1790
. 1760

(1) 1
) 2
(3) 3
(4) 4

=

1[Option ID=18833]
2[Option ID=18834]
3[Option ID=18835]
4[Option ID=18836]

Sl. No.35
QBID:168035




Prevention of crime by physically eliminating capacity of crime, usually through imprisonment, is called as

1. Deterrence

2. Incapacitation
3. Rehabilitation
4, Retribution
11

() 2

(3) 3

4) 4

AT HRIAN D U1 U, SRS & HI YRING 39 Y AT B & gRI SR1Y HaR0, 39 39
H ST STl &

1. gfdarur
. 3f&rHipRur

RUCGIN|
4. UIdPR

(1) 1

) 2

(3) 3

4) 4

s b2

1[Option ID=18837]
2[Option ID=18838]
3[Option ID=18839]
4[Option ID=18840]

Sl. No.36
QBID:168036

Who among the following headed an Advisory Committee on After-care Programmes appointed by the Central
Social Welfare Board in the year 1956?

1. Dr. Hira Singh
2. Dr. Sampurnanand
3. Dr. Walter C. Reckless
4. Dr. M. S. Gore
1) 1
2) 2
(3) 3
4) a4

Fafciad # U foa S GHIS DA d1S §RIET 1956 H TS FTREU BIRIDGH & fag o+ grraed
A Bl sfezmerd o of 2

1[Option ID=18841]
2[Option ID=18842]
3[Option ID=18843]
4[Option ID=18844]

Sl. No.37
QBID:168037




Clinard and Quinney have stated that organized crime has a

1. Hierarchical Structure
2. Horizontal Structure
3. Vertical Structure
4. Circular Structure
11
(2) 2
(3) 3
4) 4

fGeTs 3R fdd = gar g o "fdd iy | qrft St g |

1. FI9TE G
2. Sifaet =T
3. dadd Il
4. OISR YT

1) 1

) 2

(3) 3

4) 4

1[Option ID=18845]
2[Option ID=18846]
3[Option ID=18847]
4[Option ID=18848]

Sl. No.38
QBID:168038

Who propounded the 'Self-concept and Containment Theory'?

1. Richard Quinney
2. Walter Reckless
3. Thorsten Sellin
4. Albert Cohen

1) 1

(2 2

(3) 3

4) 4

FrafalRad o sra-de e 2R g (@R Rigr &1 ufaare B up

1. =S o4

2. dlec? ¥y
3. yrfeq IfeH
4. 3fcdC Plgd

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18849]
2[Option ID=18850]
3[Option ID=18851]
4[Option ID=18852]

Sl. No.39
QBID:168039

Which is NOT a general principle of Care and Protection of Children under JJ Act, 20157

1. Principle of Presumption of innocence
2. Principle of controlled emotional involvement
3. Principle of participation
4. Principle of equality and non-discrimination
1) 1
) 2




3) 3
4) 4

fFafaRad 3 T -1 [Pk O (@d®] &1 <@ AR &) A9 (.51 Tae), 2015 B TH UH
e T8l 82

1. JAYRON 3R Heiydr &1 gl
> Frfaa damEs siqHifadar o1 R
3, FEHINTAT &1 R
4. GHM 3R TR-[ANSH0 1 g
@ 2
(3) 3
(4) 4

1[Option ID=18853]
2[Option ID=18854]
3[Option ID=18855]
4[Option ID=18856]

Sl. No.40
QBID:168040

Which one of the following is NOT a goal of criminal justice ?

1. Deterrence
2. Incapacitation
3. Retribution

4. Consensus
a1
(2) 2
3) 3
4) 4

fafalaa 3 @ o ve Rifes uma &1 ded Ta) 52

1. HOTORT (Hfcaron)
. 3fefHiHRT
RSIREAN

"

e b

=

(1) 1
) 2
(3) 3
4) 4
1[Option ID=18857]
2[Option ID=18858]

3[Option ID=18859]
4[Option ID=18860]

Sl. No.41
QBID:168041

Characteristics of Open Jail are :

A. Selected inmates

B. No Fencing

C. On Probation

D. Less security

E. A minimum senrtence completed in a closed jail

Choose the most appropriate answer from the options given below:

1. A, Band C only
2. B, Cand D only
3.A B,CandD only
4. A, B.D and E only

) 1




) 2
3) 3
(4) 4

Hd HRATR B! AUV &

A. e sd

B. R fafg

C. uRdian @R

D. SH F&fl

E. <gAdH il 3fdfY s HRATR H gul 1 gl

i f5U 70 faeedl & ¥ Al 30X & O9a it

1.$hdd A, B, C
2. $ddB,C,D
3.$dd A, B,.C.D
4. HIdA,B,D,E

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=18861]
2[Option ID=18862]

3[Option ID=18863]
4[Option ID=18864]

Sl. No.42
QBID:168042

'‘Commitment' - in Social Bond Theory comprises of

A. Career

B. Fairness

C. Future Goals
D. Success

E. Family

Choose the most appropriate answer from the options given below:

1. A, Band C only
2.B.D and E only
3.A C,DandE only
4.B,C.D and E only
1) 1

(2) 2

(3) 3

(4) 4




g deq Rigid | ufddgar 5 IfH« gl g:

A. Sftagf

B. fegefar

C. Hia™ITd |eg
D. g% ddl

E. gRAR

[ =

i fau U fddedl # 9 a8 Iugad IR &1 98 DIfoid:

1.$dd A, B, C
2. $ddB,D.E
3. $ddA.C.D.E
4.%ddB,C,D,E

11
(2) 2
(3) 3
(4) 4

1[Option ID=18865]
2[Option ID=18866]
3[Option ID=18867]
4[Option ID=18868]

Sl. No.43
QBID:168043

According to 'Crime in India' report for the year 2021, which of the following is True about IPC crimes?

A. Crime Incidence in 2021 increased over 2020.

B. Crime Rate in 2021 increased over 2020.

C. Chargesheeting Rate in 2021 increased over 2020.

D. Total IPC crimes registered in 2021 were around 36.63 lacs.
E. Crime Rate in 2021 was around 80.

Choose the correct answer from the options given below:

1. A,B, CandE only
2.B, Cand D only

3. C and D only

4. D only

1) 1
(2) 2
3) 3
(4) 4

gﬁfzonaﬁ'wﬂﬁﬁmﬂ'ﬁqﬁéé?mﬁuﬂ?ﬂﬂégﬁ%ma{waﬁé?ﬂaﬁﬁﬁyﬁ@ﬁﬁﬁaﬁﬁmﬂﬁ

A. a4 2020 DT Ul I8 2021 H AIRIUS geTefi A afa g3 &

B.d¥ 2020 B qa T H ¥ 2021 H IRY R A IS G &

C. a8 2020 BT 30&T TY 2021 H 3RMU-U7 A T Bl ex H gl g3 ©

D. a4 2021 H YR &8 Figdl & f=<hid Dol Uoliehd URIell DI AT THIHIT 36.63 TR Al
E. 99 2021 H 3[URT9 & AT+ 80 Ut

= fau e fds el # ¥ Wl 3R ®I 90 DI

1. ®dd A, B.C.E
2.%dd B, C,D
3.$hdd C.D
4.%dd D




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18869]
2[Option ID=18870]

3[Option ID=18871]
4[Option ID=18872]

Sl. No.44
QBID:168044

According to "Prison Statistics India-2021" report, which of the following is TRUE ?

A. Number of prisons in 2021 have increased over the year 2020.

B. Actual capacity of prisons in 2021 has increased over the year 2020

C. Number of prisoners at the end of year in 2021 has increased over the year 2020

D. Occupancy Rate at the end of the year in 2021 has increased over the year 2020

E. Number of Foreign prisoners at the end of year in 2021 has decreased over the year 2020.

Choose the correct answer from the options given below:

1.A,B,C,Dand E only
2. A,B,CandD only
3.A,B,CandE only
4.B, C and E only

1) 1

) 2

(3) 3

(4) 4

"HRA I SRITR FiRADHI-2021' & Wicded o 3UR MAfeiRad H d &1 91 gl g2

A. Y 2020 @1 g1 H a9 2021 H Sid| DI WAT 96 T3 &

B. ¥ 2020 &1 qa- H 99 2021 H SIdl B dRdidd &HdTH 3iS 8% 6

C. ¥ 2020 T 37U dY 2021 & 31 A Sf¢l bl G H I €3 ©

D. a4 2020 T 3{U&T TV 2021 & 3id db HAHTT R A I g3 ¢

E. a4 2020 ! g1 # a¥ 2021 & 3id do [q&xi dical pl d@nac 75 ¢

i fu Tt fasb et # 9 |el IR 1 =g Hifou:

1.$dd A, B,C.D.E
2. $Hdd A, B,C.D
3. $Hdd A, B.C.E
4.HddB,C,E

(1) 1
() 2
(3) 3
(4) 4

1[Option ID=18873]
2[Option ID=18874]
3[Option ID=18875]
4[Option ID=18876]

Sl. No.45
QBID:168045




Which among the following is/are NOT associated with Biological Positivism?

A. Strain theory

B. Operant learning

C. Feeble mindedness

D. Twin studies

E. Chromosomal anomalies.

Choose the correct answer from the options given below:

1. A and B only
2. A, Band C only
3.A B.CandD only
4. A,B.C,DandE only
1) 1
(2) 2
3) 3
(4) 4

fgfarad & I oF 9/ Sfde TaeEre 3 969 Tl 6/6?

A. 3T f¥gid

B. fobamaygd sifaem

C. GaAH-Edl

D. g 3G

E. UREATT ergafd

1< feu e fasedt # 9 et 3wk &1 99 DI

1. hdd A, B
2. Hdd A, B, C
3. ®Hdd A, B.C AR D
4. AT A, B.C.D3RE

(1) 1
2) 2
(3) 3
4) 4
1[Option ID=18877]
2[Option ID=18878]

3[Option ID=18879]
4[Option ID=18880]

Sl. No.46
QBID:168046

According to 'Accidental Deaths and Suicides in India - 2021" report, which of the following is TRUE ?

A. Total number of suicides reported in 2021 have increased over 2020

B. Highest number of suicides in 2021 were reported from the State of Maharashtra

C. Rate of suicides in 2021 has increased over the year 2020

D. Highest rate of suicides during the year 2021 was reported from Andaman and Nicobar Islands
E. The biggest cause for committing suicides in 2021 was 'family problems'.

Choose the correct answer from the options given below:

1.A,B,C,Dand E only
2.A,B.CandE
3. A.Band C only
4. A, Cand E only
)1
(2) 2
(3) 3




(4) 4

YR H gHeS= Jd Ud Sfidedl-2021' i RUIE & YR Fufiidad o 9 & 91 98l 62

A. @Y 2020 DT U TY 2021 H ATHEHT B! Dol U&AT H dfes; ol Bl 15 ©

B. aY 2021 H (TG P! Halfdedh T HgRIY H a6l 1 15 ¢ |

C. TY 2020 BT 3U&TTY 2021 H 3MAAeH &2 H 3l &9l B 715 &

D. a4 2021 & SR ATHGAT B! Yl &R HSHMA 3R [MHIaR gIUgHg H &6l Bl 715 ¢
E. a¥ 2021 H 3T B Bl Y 981 HRUI YIRGIRS JHET 1|

1 fau e fas el # ¥ Wel 3R &1 904 DI

1. $dd A, B,C.D,E
2. $dd A.B.C.E

3. Hdd A, B.C

4. bdd A, C.E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18881]
2[Option ID=18882]
3[Option ID=18883]
4[Option ID=18884]

Sl. No.47
QBID:168047

According to the Data on Police Organizations (as on 01-01-2022)' by Bureau of Police Research and
Development, which of the following is/are CORRECT?

A. Amongst state police forces, Maharashtra has the highest actual strength of the civil police.

B. Amongst Central Armed Police Forces, the Central Reserve Police Force (CRPF) has the highest actual
strength.

C. Amongst the states, Bihar has the highest Population Per Police Person (PPP) Ratio, against the total
sanctioned police strength.

D. Amongst the states, maximum women police personnel are working in Uttar Pradesh.

E. The highest Police Per Lakh of Population Ratio (PPR). against the total sanctioned police strength, is in
Andaman and Nicobar Islands.

Choose the correct answer from the options given below:

1.A.B,C,DandE only
2.B,C.D and E only
3.A.B,CandD only
4.B, D and E only

1) 1

) 2

(3) 3

(4) 4




Ofcry SIH UaH fdhrg o3 & gfcie Jia-l & 3fids (01.01.2022 Bl FRufd & raR)y Maifed § 4
S 91/ HUF el o/o:

A. T gferd gal H HeRY H RAfdd gferd 9e9 offtes S # dHid ¢

B. $-51d U=Nd gferd qal # s Rord g g (1 SRUN) | S1ie] ST Her gt gl

C. GRS o4l H Ui gfery ST, U¥didd Yierd & al &f qa-l H [4gR s H 9aiivd g

D. RT o Il H STRYCRT H Afge gfery Sl i T 9ailves g

E. U dRd I 3Ma1d] UR Gfery i3l o1 A1 o Gferd dd o Widvd Ul o gl H e MbldR
al09qg | Halided g

i few ar fadedt & @ T 3O T 99 S

1.$dd A, B,C.D,E
2. $dd B, C,D.E

3. Hdd A.B.C.D
4.%dd B, D.E

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18885]
2[Option ID=18886]

3[Option ID=18887]
4[Option ID=18888]

Sl. No.48
QBID:168048

Aggregate means

A. Synthesis

B. The population of a country is an aggregate of the population of cities and rural areas
C. Cohort design

D. A total created from smaller units

E. A sample of a wider population.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
3. B and D only
4.D and E only

1) 1

(2) 2

3) 3

(4) 4




& (TFIT) B HHUME B

A. HZIY0T

B. fardl <=1 1 SITERenT RIgRl SR UTHIV &3] I S4B B P AN §
C. 0T 3{fHehed (BRI fEuig)

D. WYk 31341 9 Yford

E. 3fI& sTadh SHTaTe 1 e
i fau U fddedl # 9 a8 Iugad IR &1 98 DIfoiT:

1. %dd A 3R B
2. HAAB AR C
3. $ad B 3R D
4. H9AD 3ARE

) 1

() 2

(3) 3

4) 4

1[Option ID=18889]
2[Option ID=18890]
3[Option ID=18891]
4[Option ID=18892]

Sl. No.49
QBID:168049

The ability of one drug to prevent the withdrawal symptoms of one's physical dependence on another is :

A. Cold Turkey

B. Cross tolerance
C. Cross dependence
D. Craving

E. Co-dependence

Choose the most appropriate answer from the options given below:

1. Aonly
2. B only
3. C only
4.D only

(1) 1
(2) 2
(3) 3
(4) 4

R R bl o1 IR FiRe1 & fafad= e & FaRo &1 udb iwie o1 4 6-

A BIS edf

B. Ufc Afgwydn
C. ufa Fafvan
D. dIedl

E. ggfiRdr

i fau U [dspedl # 9 e IUgdd IR &1 98 DIfoIT:

1. ddd A
2. Hdd B
3. Hdd C
4. $HddD

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=18893]
2[Option ID=18894]

3[Option ID=18895]
4[Option ID=18896]

Sl. No.50
QBID:168050

Which of the following are typical attributes of Probation ?

A. Inter-personal skills

B. Counselling techniques

C. Strong listening skills

D. Ability to build strong relationships
E. Strong communication.

Choose the correct answer from the options given below:

1. A and B only
2. B, Cand D only
3.A B.Cand D only
4. A,B.C,DandE only
1) 1
(2) 2
3) 3
(4) 4

fufaRad o @ HH-3 gikdian & @ 1o 5-
A. AT (RID DI

B. TR dd-id!

C. TG Yau S

D. Holdd Haie 1 DI &
E. Hecl SN0

i fgw 7w fadedt & & TRl 30X T 99 thieid:

1. Hdd A B
2. HddB.C.D
3. Hdd A, B.C.D
4. HddA,.B.C.D.E
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=18897]
2[Option ID=18898]
3[Option ID=18899]
4[Option ID=18900]

Sl. No.51
QBID:168051




‘What are the levels of addiction ?

A. Mental

B. Spiritual
C. Carcinogen
D. Emotional
E. Physical

Choose the correct answer from the options given below:

1. A, Band C only
2. B, Cand D only
3.A B.DandE only
4. A, B.CandD only
1) 1
(2) 2
(3) 3
(4) 4

IR & TR J1 52

i fgw ar fadedl & & TR 30X T 99 Shioid:

1.$dd A, B, C
2. $dd B, C.D
3. $Hdd A.B.D.E
4.bdd A, B.C.D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18901]
2[Option ID=18902]

3[Option ID=18903]
4[Option ID=18904]

Sl. No.52
QBID:168052

"Violence creates violence' is the contribution of

A. Felson

B. Quinney

C. Chambliss

D. Peace Making Criminology
E. Turk

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. B and D only

1) 1

(2 2

(3) 3




(4) 4

I MgfRad § 9 [y aieH & - fean e &l 574 <l g2

A. e

B. [l

C. TfFeeTy
D.gﬁw@aaﬂﬁw&maﬁﬁﬂ
E.

o fqu T faeedt # & O9@ I9YFd I T T HIfST

1. hdd A, B
2. $dd B, C
3.Hdd C.D
4.%dd B, D

(1) 1
) 2
3) 3
(4) 4

1[Option ID=18905]
2[Option ID=18906]
3[Option ID=18907]
4[Option ID=18908]

Sl. No.53
QBID:168053

Which of the following is correct about classification of offences as per the First Schedule of the Code of
Criminal Procedure (Cr PC) ?

A. Sedition is classified as a cognizable offence

B. Theft is classified as a non-cognizable offence

C. Robbery is classified as a cognizable offence

D. Criminal Breach of Trust is a non-cognizable offence
E. Mischief is a non-cognizable offence

Choose the correct answer from the options given below:

1. AB.C,DandE only
2.B,C.D and E only
3.A Cand E only
4. A, Cand D only

1) 1

2) 2

(3) 3

(4) 4

&S Ufshal Tlgdl &1 UUH 3! & STUR URTY o qriihul & gR H Hafaiad ugl g°

A SIIE DI o SIRIY & & H Fffepd fobar Sl g
B. IR &1 IR-Uo IR & &9 H qifldpd a1 Sirdl g
C. Sabdll Dl Folg SURTY & =4 H qEifepd fobar Siredl g
D. HTRIYP fIYIFed IR-Tog 3R 3

E. RiP (i) IR-goig 3Ry @

o 2T a7 fdeedl H ¥ AL 30X & Ode it

1.$dd A, B,C.D.E
2. $ddB.C,D.E
3.Hdd A, C. E
4.bdd A, C,D




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18909]
2[Option ID=18910]

3[Option ID=18911]
4[Option ID=18912]

Sl. No.54
QBID:168054

A. right to vote

B. right to hold any office
C. right to shelter

D. right to health

E. right to employment

1. A, B,C,DandE only
2. A, Band C only
3.B, C and D only
4. A, Band E only
1) 1
) 2
(3) 3
(4) 4

A. HANYPR

B. fobdil g U X5 1 HIPR
C. 1Y BT HHR

D. W & HUBR

E. USSR $1 HTHR

1.$dd A.B.C.D.E
2. Hdd A.B. C
3. %9ddB.C.D
4. HdAdA.B.E
1) 1
2) 2
(3) 3
4) 4
1[Option ID=18913]
2[Option ID=18914]

3[Option ID=18915]
4[Option ID=18916]

side Rifdd 3y &1 2 § fb &S aafaa

i fu T fasb et # 9 Tl 3ok I =g Bifoie:

'Blanket Civil Death' means that a person will be deprived of:

Choose the correct answer from the options given below:

SEIECREIT

Sl. No.55
QBID:168055




Which among the following components of criminal event is mentioned as the model of the routine activity
approach ?

A. Likely offender

B. A suitable target

C. The absence of a capable guardian
D. The risk of apprehension

E. The presence of police

Choose the correct answer from the options given below:

1. A and B only
2. A, Band C only
3.A,B.CandD only
4. A, B,C,DandE only
1
(2 2
(3) 3
(4) 4

SR Tl & fby gedh $1 Joeikg ¥c 1 Ufdefde] 3iud & Alsd & &4 H [T 741 g2

A. GHIfAd SroRTeddl
B. UL A&
C. & SHfTRED B Uyl

R PG ARSIIEEE:)
E. gfarg 3t Iufufd

A Bw I fawedl & & T8I 3T # =4 HITAT:

1. hdd A. B

2. Hdd A, B. C

3. HddA,B.C,&D
4.%ddA,B,C.D,&E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=18917]
2[Option ID=18918]
3[Option ID=18919]
4[Option ID=18920]

Sl. No.56
QBID:168056

Which of the following techniques were suggested by Sykes and Matza as 'techniques of neutralization'?

A. Denial of crime

B. Appeal to higher loyalties
C. Denial of the victim

D. Denial of injury

E. Denial of responsibility

Choose the correct answer from the options given below:

1. A, Band C only
2.B,C,D and E only
3. A, D and E only

4. A, B.CandD only
1

2 2




3) 3
(4) 4

i 3R "res gR1 fob fafeat @1 gia Ierie & 3t fafeai & o o fear g2

A. HRTY DI 3RAIHR HIATl

B. 3R UYHIRAT § 31Ad HRAT
C. 3qulfed &l 3RAIHR HRAI

D. dI¢ &l 3RAIHR Bl

E. 3TRalUd Dl DR HRAl

A feT 9w fasedl & & ThL 3T 1 =8 HIfe:

1.$dd A, B, C
2. $dd B, C,D.E
3. Hdd A, D.E
4.%dd A, B.C.D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18921]
2[Option ID=18922]

3[Option ID=18923]
4[Option ID=18924]

Sl. No.57
QBID:168057

Special Juvenile Police Units are NOT performing this function:

A. Apprehending the children in conflict with law
B. Supervisory field work

C. Coordination with welfare agencies

D. Counselling the juveniles

E. Mediation.

Choose the correct answer from the options given below:

1. B, C and D only
2. Aand D only
3. Aand E only
4. B and C only
1) 1
() 2
(3) 3
(4) 4

fa=iy iR gfers 3prsai Fufafad # 9 -9 &1 761 36 §

A. 1af¥ 9o dIeid Bl e
B. qudef e

C. HeIU] TSR] & 91y ganT
D. Rl & qmm=t &1
E. ]

AR few o fomedl & & T8I 3T &1 =0 HITAT:

1.$ddB,C,D
2. Hdd A, D
3. Hadd A E
4. $dd B, C




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18925]
2[Option ID=18926]

3[Option ID=18927]
4[Option ID=18928]

Sl. No.58
QBID:168058

The main modes of punishment in Ancient India were:

A. Admonition

B. Remonstrance

C. Security Bond

D. Imprisonment, death or mutilation
E. Stoning

Choose the correct answer from the options given below:

1. A and C only
2. A, Band D only
3. E and D only
4. A and D only
1) 1
) 2
(3) 3
(4) 4

U 4R § <8 & U diid r 4o

A. YT

B. Uit (RHIE)

c. ufayfd 9is

D. BRIEMN, HG Il 31fd=d¢
E. TR I ARAI

A feT 9w fawedl # & TEL I F1 =Tha HIfe:

1.bad A, C
2. $dd A, B.D
3. HddE, D
4. Hdd A, D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18929]
2[Option ID=18930]

3[Option ID=18931]
4[Option ID=18932]

Sl. No.59
QBID:168059




The main component of Rights as envisaged under the UN Convention on the Rights of the Child, 1989 are :

A. Right to survival

B. Right to development
C. Right to participation
D. Right to protection
E. Right to assistance

Choose the most appropriate answer from the options given below:

1. A, B, C and D only
2.A,B.C,DandE only
3. A, Band C only
4. C, B and D only

1) 1

(2) 2

3) 3

(4) 4

1 HATYPR Heiell e AP ST, 1989 & 371 AUDRI D H G DIed o

A. ITRSITAT BT HYPR
B. [d®™ &1 3UHR

C. YT BT 3AHfYBR

D. UR&TT BT 3MfIPR

E. 9eIdl U &7 IR

#rer fgw T faewedt # & ToW ITFd ITR T T HII:

1.$dd A, B,C.D
2. $dd A, B,C.D.E
3. Hdd A, B. C
4.%dd C,B.D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18933]
2[Option ID=18934]

3[Option ID=18935]
4[Option ID=18936]

Sl. No.60
QBID:168060

Which among the following are related to labelling process?

A. Detection by the Justice system
B. Bonding

C. Initial Criminal Act

D. Creation of New identity

E. Decision to label

Choose the most appropriate answer from the options given below:

1. A, Band C only
2.B, C and D only
3.A,C,DandE only
4. A, B, C and D only

11

(2 2

(3) 3




(4) 4

fFafaRad § 9 o 9 =01 ufchar § Sefed g2

A. 91 YGid gRT 3R
B. g4 (@ifam)

C. 3RIHD MRIYD Hg
D. Tt ygaH &1 |t
E. ATHYA0] 61 4/

o fqu T faeedt # & O9@ I9YFd I T T HIfST

1.$hdd A, B, C
2. $dd B, C,D
3. HddA.C.D.E
4.bdd A,B,C.D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18937]
2[Option ID=18938]

3[Option ID=18939]
4[Option ID=18940]

Sl. No.61
QBID:168061

Which among the following are relevant to social disorganization theory ?

A. Cultural transmission

B. Poverty

C. Breakdown of social control
D. Criminal Areas

E. Criminal Careers

Choose the most appropriate answer from the options given below:

1. A, Band C only
2.C,Dand E only

3. A, B.Cand D only

4. A, B,C,DandE only

(1) 1
) 2
(3) 3
(4) 4

g1 f[aeiTed Rrgid & urife Fgefad § 9 oF 9 62

A. Hi¥h{dd TER

B. (e

C. | fT=01 $T 3fHId
D. SATRIYD &

E. 3R gftd

A few v faeedt F @ Hedl 3uEd IO #1949 ST

1.$bdd A, B, C

2. $dd C, D, E
3.®dd A,B,C,D
4.%ddA,B,C.D.E

@ 1




) 2
3) 3
(4) 4
1[Option ID=18941]
2[Option ID=18942]

3[Option ID=18943]
4[Option ID=18944]

Sl. No.62
QBID:168062

Which among the following are related to 'Inner containment' ?

A. A good self concept

B. Self control

C. A well developed conscience

D. A set of reasonable limits and responsibilities

E. Identification with one or more persons within the group.

Choose the correct answer from the options given below:

1. A, Band C only
2. C.D and A only
3. B, C and D only
4. A, Cand E only

1) 1

(2) 2

3) 3

(4) 4

FRfRad # 9 B U o uRRIy I Teifad 62

A. FTH 3MTH-HH el

B. 3T R

C. Gl {d aidhum

D. FYIf=d 1 Ud IRl &1 9H=1g

E. GHg & HIdR U U1 {4 il &1 ugdH

i fgw 7w fadedt & & TRl 30X T 99 thieid:

1.$dd A, B, C
2. $dd C,D. A
3.$ddB,C.D
4. bdd A, C.E

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=18945]
2[Option ID=18946]
3[Option ID=18947]
4[Option ID=18948]

Sl. No.63
QBID:168063




Which of the following is true about 'Dying Declaration' ?

A. In a case where the question of cause of death of a person is in issue, the statement made by the person as to
cause of his death is relevant and admissible in a court of law

B. Dying declarations are admitted in evidence vide section 32 (1) of the Indian Guidance Act, when a person is
on death bed

C. Principle on which dying declarations by a person on death bed are admitted is Nemo morituris proesumitur
mentiri

D. If the court of law is satisfied that dying declaration is true and Voluntary., it can take conviction on it,
without corroboration

E. Merely because a dying declaration does not contain the details as to the occurrence, it is not to be rejected.

Choose the correct answer from the options given below:

1. A,B,C,Dand E only
2.B.C,D and E only

3. A, B, Cand E only

4. A, Band C only

1)1
(2) 2
(3) 3
4) 4

HIPID U & §R A Fufciad o194 9 o 98l o2

A. T g oY (8! e &1 g & RO Aa Uy o1 (a9 (YT 8l <l lad gRT a1 71 &y
I Jg & PR P &9 T Ay § U 3R =14 glal g

B. HRATY 91 a8 Dl H1ed 3Ty Gasl 4RT132(1) H AGDI0D HYH dd Widpd HIF Sild ¢ Sl
g odfdkd Hg Qa1 R BIdl B

C. 98 Ry, o g R uS fh el safdd gR1 {3 Y Hgbiere U Widd [$UHrd 8, 98 =H
Hife Ry MUY HdR AR & A8 Y S Sl 8|

D. Ife <ITaTa 39 91d § TP & [ A@Ifcie HUF 9 Ud [wsTgde foa1 741 ¢, a9 9¢ far wfagf® &
GINTAfE 1 SR Bl ¥l ¢ |

E. diid dad gdIdd &= H gel SR g+ Sl [qaror1g! enikd (6 g df 39 er&digd gl fda
SITEATI |

A fgu a7v fawedi & & A6 3T & 99 it

1.$dd A, B,C.D,E
2. ®ddB,C,D,E

3. $%ddA.B.D.E
4, $dd A, B, C

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18949]
2[Option ID=18950]

3[Option ID=18951]
4[Option ID=18952]

Sl. No.64
QBID:168064




Which among the following are the basic components of Strain Theory ?

A. Formation of gangs and groups

B. Maintenance of conventional rules and nouns
C. Poverty

D. Crime and delinquency

E. Criminal concerns

Choose the correct answer from the options given below:

A, B, C and D only
B. C.D and E only
.A,B,C,DandE only
4. B, C and D only

1) 1

(2) 2

3) 3

(4) 4

19 () [sid & gd ged Hufafad T S d g2

A. T 3R GHg! &1 T

B. TRURNTA (TH] SR AFES] T SREUT
C. FAsfan

D. 3R1Y U4 3UIR

E. 3WRI(¢PH TR

1
2.
3

i fgw ar fadedl & & TR 30X T 99 ol

1.$dd A, B,C.D
2. $dd B, C,D.E

3. $dd A,B,C.D.E
4.$ddB,C.D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18953]
2[Option ID=18954]

3[Option ID=18955]
4[Option ID=18956]

Sl. No.65
QBID:168065

Which of the following are related to labelling process?

A. Creation of new identity

B. Initial Criminal Act

C. Acceptance to labels

D. Direction by the Justice system
E. Deviance amplification.

Choose the correct answer from the options given below:

1. A and B only

2. B and C only

3. A,B,Cand D only

4. A, B, C,DandE only
1
(2 2
(3) 3




(4) 4

fFafaRad § 9 o1 A9 ufdar 9 He6fed g2

A. 7T Ug=H &1 i
B. SRfH® MRIUD Fd
C. Y] 1 Wil
D. T UGid RT3
E. fagmargar 4 aig

o fqu T faeedt # & O9@ I9YFd I T T HIfST

1. hdd A. B

2. $dd B, C

3. Hdd A.B.C.D
4. Hdd A, B,C.D.E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18957]
2[Option ID=18958]

3[Option ID=18959]
4[Option ID=18960]

Sl. No.66
QBID:168066

Match List I with List IT

LISTI LIST II
; 5 : : = : [ ong term
A |An emotional disturbance following exposure to stresses outside the range of normal human experiences| [ Tl
B. [Extreme preoccupation with certain thoughts and repetitive preference of certain behaviours I P?St N
stress disorder
[Obsessive —
C. [Abuse - crime phenomenon 1z also called as III. jeompulsive
isorder
D. [Suffering anxiety long after the incident and the justice process IV. (_:_ycle v
[riolence
Choose the correct answer from the options given below:
1. A-I, B-1I, C-1II, D-IV
2. A-T1V, B-IIL, C-II, D-I
3. AL B-II, C-I, D-IV
4. A-IVI B-III, C-1V, D-1
1) 1
2) 2
(3) 3
(4) 4
G 1P 91y gl 1 BT e Pifie
el 1
A [T B B SHHA SHT & GleL 0419 & 3GHEA J SalUd Hiaies il L [dYeiied aa
B [7® T9ER! & $8 [9dR| AR TR0 asadra &1 HTdidd galiaemr 1L [STR HHTds! 419 (9@
C. [moRiiar uigeT &1 geuaiT 39 9 H Hi 9 9dl & 111 [y&-sTgdaR] [deR
D. [de1 3R 1G Uishdl B gd 9Hd Uld giddl 9 Uifsd IV [[B1-95h

i f4U U fah el © 9§ el 3R ol 994 DIl ;

. A-1, B-II, C-IIT, D-IV
.A-IV, B-1II, C-11, D-I
AL B-II, C-I, DIV
. A-IVI B-IIL C-IV, D-1

W D =

o=




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=18961]
2[Option ID=18962]

3[Option ID=18963]
4[Option ID=18964]

Sl. No.67
QBID:168067

Match List I with List IT

LISTI LISTIT
A [Neutralization and Drift Theorv] [ |[Walter Reckless
B. |Social Bond Theory IT. |Charles Tittle
C. [Containment Theory II1. |David Matza and Gresham Sykes|
D. [Conirol balance Theory IV. |Travis Hirschi

Choose the correct answer from the options given below:

1. A-IIL, B-I, C-1IV, D-II
2. A-II, B-1IV, C-1, D-II
3. A-IL B-III, C-1. D-IV
4. A-1IV, B-1, C-1II, D-II

11
() 2
(3) 3
4) 4
YT 1 G1Y T 11 DT e BHifore
T 1 Tl 1T
A [ae@ii®u U4 Hagd Mgid (AeagenH Us faue ) 1 [arecy Yoy
B [EriieTen e i 1. [areE feed
C. [arRied Eid 111 [SFs A1 IR U9 Te|
D[S dqed fisia IV |CTa9 el

i f4U 70 fap el © 9§ Ul 3R ol 994 DIl

CA-IILL B-1L C-IV, D-I1
.A-IIL B-IV, C-1, D-II
. A-TIL B-II0, C-1, D-IV
.A-TV, B-1, C-I1II, D-II
(1) 1
) 2
(3) 3
(4) 4

[V I o

u.

1[Option ID=18965]
2[Option ID=18966]
3[Option ID=18967]
4[Option ID=18968]

Sl. No.68
QBID:168068




Match List I with List IT

LISTI LIST IT
[F.obert Merton 1. |Cultural Transmission Theory
[Frederick Thrasher| [T [Success goals and opportunity structures theory
Shaw and Mckav | III. |Anomie theory
. |Cloward and Ohlinf IV. |Gang Theory

SREE

Choose the correct answer from the options given below:

1. A-I, B-1I, C-IL, D-IV
2. AL, B-IV, C-I, D-II
3. A-IV, B-11I, C-II, D-1
4. A-II, B-1, C-1V, D-III

) 1
) 2
@3) 3
) 4
YT 1 91 Gl 11 DT {7 P
T 1 T
A RrEe "4 1. [gReids Yuv [¥Eid
B. [[h5R® U8R 11 [Fadl G&d Ud S8R @1 s
C. [’IT 3R d% 1L {319 Ryl
D. [deilds AR AGIeH| IV. [T Rigid

i f4U ¢ fa el § 9 el 3R ol 994 Bl ;

.A-1 B-II, C-1I1. D-IV
.A-IIL B-1IV, C-1, D-1I
CA-TV. B-III, C-I1. D-1
. A-II, B-1, C-1V, D-II1
1) 1
(2) 2
(3) 3
(4) 4

W D =

i

1[Option ID=18969]
2[Option ID=18970]
3[Option ID=18971]
4[Option ID=18972]

Sl. No.69
QBID:168069

Match List I with List IT

LIST I LISTII
A [Defensible space I [Situational crime prevention
B. |Crime prevention through environmental designl II. |Oscar Newman
C. [Denial of access to suttable targets 11 |C. Rav Jeffery
D. |Steering locks in cars is a method of I'V. |Target Hardening

Choose the correct answer from the options given below:

1. A-II, B-III, C-1. D-IV
2. A-1, B-III, C-II, D-IV
3. A-IV, B-III. C-I1, D-I
4. A-IIT, B-II, C-IV, D-I

(1) 1

(2) 2

3) 3

4) 4




YT 1 G1Y T 11 DT e Bifore

Tl 1 T 10
A R&olig == L [RUfd® SRTy Har
B. [qiaRviy afiided & A1 § HRTY Harv| 1L [s#Ra gaH
C. [3uge q&af a® Ugd 4 ared g1 1L ', 3. St
D. [PR & REgRi aid &l U@ [9id g V. [aiférd faaraeria @)

i foU U g eyl § 9 I8l 3R &1 99 Hifolu ;

.A-IL B-1II, C-1, D-IV
.A-I B-III, C-II, D-IV
.A-TV, B-111, C-I1, D-1
. A-III, B-II, C-IV, D-I
1) 1
(2) 2
(3) 3
(4) 4

D e

.

1[Option ID=18973]
2[Option ID=18974]
3[Option ID=18975]
4[Option ID=18976]

Sl. No.70
QBID:168070

Match List I with List IT

LISTI LIST IT
. |When the sampling design for the population 1s multi stage_ it is also called as I [Validity
[When the research has tvpes in the population and can sample elements directly than it 1= 11 |Clustering

i s o 3 Single stage sampling
[When specific characteristics of individuals are represented and the sample reflects the true proportion| II1 = = ping

o o [w]=

. [Whether one can draw meaningful and useful inferences from the scores on the instrument IV |Stratification

Choose the correct answer from the options given below:

1. A-IV, B-II1. C-II. D-1
2. A-II, B-III, C-IV, D-1
3. A-IIL, B-II, C-IV, D-1
4. A-1, B-11. C-III. D-IV

(1) 1

(2) 2

(3) 3

(4) 4

YT 1 91 T 11 DT e Hifore

T 1 T I
A [ors ST8%A1 o Uicaa b ed gaR0Nd aidl & di 34 38 4 4 Y1 o1 S & L [qear
B. [gE 99 BIdI 6] 9id o] H 21Y &l &g YSR 5idl & 96 Yodal ¥4 H dadl &1 WidaRl Hid &2 gdbdl o] 1L [F9He @i
C. [ord gl @1 [P [GRINT Wgd @1 Wil & U4 U] S99-3=uTd &1 Uidisiad &d gl 11 [Usha oRo Hiaaeq
D. [wis i [oRad (I8) © Halldd Urdic] § 390l AR 39FRT S-HH e ddbdl o IV. [siia

i f3U 70 fa el § § Yl 3R ol 99 Hifolu

ATV, B-IIL, C-I1, D-1
. A-IIL B-II0, C-1IV, D-1
. A-III. B-II, C-IV, D-1
.A-1, B-11, C-III, D-IV
(1) 1
) 2
(3) 3
(4) 4

W b =

£

1[Option ID=18977]
2[Option ID=18978]




3[Option ID=18979]
4[Option ID=18980]

Sl. No.71
QBID:168071

Match List I with List IT

LISTI LIST II
Sampling

'

. |Asking participants to describe their life time criminal activity L

Process of selecting a limited number of subjects who are representative] II. [Victimization Survey
[Asking people to describe their experiences of crime II1. |Self-report study
. |Observing a group of people who share similar characteristic over time | IV, |Cohort research

ofo|w

Choose the correct answer from the options given below:

1. A-IIT, B-I, C-II, D-IV
2. A-1. B-III. C-IV, D-II
3. AL B-II, C-II1, D-IV
4. A-IV. B-III. C-II. D-1

(1) 1

(2) 2

(3) 3

(4) 4

YT 1 G1Y T 11 BT e BHifore

T I T 1T
. [SeHIiEl ¥ 39 SilaH U1 B HURIED Tiaiare & gR H gdi- Seti Ugdrs o3| L [wia=a
T [qual &1 Ud Hiiid WA H 909 B i Uigdl 1. [3adfea Taam
[T § 3% HIR1Y Gati $Hal & aR H 5dH ad dell 111, |31 Tfdaed (@ RUiS) 9|
[T & 34 GHE P1 faaid (W& B3] 9 [ Ul 954 3 99 fa=wdia ard i | | IV, [gemor =ny

i f3U ¢ fap el § 9§ Yol 3R &l 994 Bl ;

.A-IIL B-1. C-II, D-IV
. A-1, B-III, C-IV, D-II
.A-1, B-II. C-1I1. D-IV
ATV, B-IIIL, C-I1, D-1
(1) 1
(2) 2
(3) 3
(4) 4

olo|w|e

W D =

i

1[Option ID=18981]
2[Option ID=18982]
3[Option ID=18983]
4[Option ID=18984]

Sl. No.72
QBID:168072

Match List I with List IT

LISTI LISTII
A A group of respondentts who do not represent the population| 1. |[Under reporting
B. |This method illuminates the dark figure II. PMleta analysis
C. |Gathering data from a number of previous studies II1. |Self-study reports)
D. [Embarrassment of reporting crime to interviewer leads to IV. |Sampling Error

Choose the correct answer from the options given below:

1. A-IV, B-II1. C-II. D-1
2. A-IIL, B-IV, C-I, D-1I
3. A-1. B-1I, C-1I1. D-IV
4. A-IV, B-III. C-II, D-I

1) 1

) 2

(3) 3

4) 4




YT 1 G1Y T 11 DT e Bifore

g 1 T 1
A [Afqareyl 1 dg Qg ol S @ Jol Wdd Hdl o 1 |sfeg-nigdes o1 (3SR i)
B. [gg fa1% ROp FF &I WP Sl ¢ 1L |31 fa=ermm
C. [gd = 9T 71U w1 I Yeied (hal 9o ¥ Hid el Uhd @1 | 1L [F9-3=m Getl Oidded (Kie)
D. [Ugdl ¥ 3URTE B NUITT] D+ H UsRioe o SR URd @i ¢ || IV. [uid=g= 3¢
i fu 7T fas gl # 9 |81 IR I 991 BT :
1. A-IV, B-111. C-II. D-1
2. A-IIT1, B-1V, C-1, D-II
3. A-1, B-II, C-III. D-IV

.

. A-TIV, B-11I, C-11, D-1

(1) 1
(2) 2
3) 3
(4) 4

1[Opt
2[Opt
3[Opt
4[Opt

ion ID=18985]
ion ID=18986]
ion ID=18987]
ion ID=18988]

Sl. No.73
QBID:168073

Match List I with List IT

LISTI

LISTIT

Section 357 of Cr. PC| 1. |Order to

payv compensation

Section 358 of Cr. PC| IL

Compensation to persons groundlessly arrested

CREE

Section 164 of Cr. P.C| III.

Recording of confessions and statements

Section 154 of Cr. PC| TV,

Information in cognizable cases.

Choose the correct answer from the options given below:

L.
.A-L, B-III, CII, D-IV
. A-IL B-1II, C-1IV, D-1
4.

2
3

A-lL B-II, C-1II, D-IV

A-III, B-1V, C-II, D-1

1)1
(2) 2
(3) 3
(4) 4

Gl 1 91 i 11 BT {7 Pifore

T I

Tl 10

GUs Ulshar Sigdl & 9R1357] L

Td® @1 el &1 HICRI

GUS Ulehal Gigdl &l 4RI 358

. [fem 3R & TRwaR et 70 safdadt @l ufdey

G0 Ufsh T Tiedl i YR 164

PR o sar & Ree

olalw]>

G0 Hish 1 Wil ®f URT 154 IV,

(€317 30378 & HH D Gl

i f4U U fah el © 9§ el 3R ol 994 DIl ;

W D =

o=

1)
(2)
(3)
(4)

. A-1, B-I, C-II1, D-IV
. A-1, B-1II, C-I1, D-1IV
. A-II, B-III, C-IV, D-1
. A-IIT, B-1V, C-I1, D-1
1
2
3
4

1[Option ID=18989]
2[Option ID=18990]




3[Option ID=18991]
4[Option ID=18992]

Sl. No.74
QBID:168074

Match List I with List IT

LISTI LISTII
A |The Criminal and His Victim 1. |Hans von Hentig
B. |Patterns m Criminal Homicide II. [Marvin Wolfzang
C. |[The Battered Child Syndrome II1. |[Henry Kempe
D. [Victimology - the Victim and His Criminal|l IV, [Stephen Schafer

Choose the correct answer from the options given below:

1. A-I, B-1I, C-1IL, D-IV
2. A-1. B-1IL C-IV, D-Il
3. A-IL, B-1II, C-IV, D-1
4. A-IIL, B-1V, C-II. D-I

1) 1
) 2
(3) 3
@) 4

YT 1 91 T 11 DT e Bifore

T 1 T I

A [z pTEa Uvs B fafdes L [gad&=n
B. [t 54 [hid elitidss 1L [ARIGH aiemifT
c. [gaes a5 Mg I [BR1 o

D. [[fgentars - g fafgen uug 89 fehfam] Iv. [t Ih

i feu U f[ddh el § 9 U8l 3R &1 98- Hifolu ;

.A-1, B-1I, C-1I1, D-IV
.A-I B-III, C-IV, D-II
.A-IL B-IIIL, C-IV, D-1
. A-IIIL B-1V, C-II, D-I
(1) 1
(2) 2
(3) 3
(4) 4

D e

I

1[Option ID=18993]
2[Option ID=18994]
3[Option ID=18995]
4[Option ID=18996]

Sl. No.75
QBID:168075

Match List I with List IT

LISTI LIST IT
A |Psychoanalytic Theorv I. IBF Skinner
B. |Operant Learning Theory 1. |Sigmund Freud
C. [Differential Association Theory| II1 |Gabriel Tarde
D. [Theory of Imitation IV. [Edwin Sutherland}

Choose the correct answer from the options given below:

1. A-II, B-1, C-1V, D-III
2. A-II, B-III, C-IV. D-1
3. A-IL, B-1V. C-1. D-1II
4. A-11, B-11, C-III, D-IV

11

(2) 2

(3) 3

(4) 4




YT 1 G1Y T 11 DT e Bifore
TR I T I

. [Fta=c oS s L [6 i R
spaTgd S Rigid| 1L [RFds s
[Aic® Uedd [hSid | 1L [iisad eRe
P Td (TGid IV. [USfdd eiavs

i fau 71 fash el # 9 Tgt IR &l 994 BT ;

1. A-II, B-1, C-1V, D-III
2. A-II, B-III, C-IV, D-1
3. A-II, B-1V, C-1. D-III
4. A-1I, B-11, C-III, D-IV

1) 1

(2) 2

(3) 3

4) 4

o|o|w|x

1[Option ID=18997]
2[Option ID=18998]
3[Option ID=18999]
4[Option ID=19000]

Sl. No.76
QBID:168076

Which of the following is the correct chronological sequence about evolution of Bureau of Police Research and
Development (BPR&D)?

A. Training Division

B. Correctional Administration

C. National Police Mission

D. Development Division

E. Police Research and Advisory Council.

Choose the correct answer from the options given below:

(4) 4
IR ST gferd e T Saaur-e (@hemiseh & faara & ddy o Fafaiad & 9 o1 ar ggl
DIADHTIR BHH g7

A. UTRI&0T GUTT
B. URD YT




3) 3
(4) 4

1[Option ID=19001]
2[Option ID=19002]
3[Option ID=19003]
4[Option ID=19004]

Sl. No.77
QBID:168077

Sequence how a case proceeds in the Criminal Justice System?

A. Trial begins

B. Cross examination

C. Charge sheet

D. Examination-in-chief
E. Sentencing.

Choose the correct answer from the options given below:

1. CCA,D,B.E
2.D,A.C.E,B
3JA.B.C,D,E
4.E.D.C.B.A

1) 1

(2) 2

(3) 3

(4) 4

SHTYRTIYP =TT UG [T H (il Yehrvr 1 Hrdars Bi SFBRTT BIfore:

A. U187 (f99R0T) URY
B. Ufduian

C. RIUTA

D. T TRI&f

E. daTaxl oA

A few I fowedl § & T8I 3T #1 =T0 HITAT:

1. CCA,D,B.E
2.D.A.C.E.B
3.)A,B,C,D,E
4.E D, C,BA

(1) 1

) 2

3) 3

(4) 4

1[Option ID=19005]
2[Option ID=19006]
3[Option ID=19007]
4[Option ID=19008]

Sl. No.78
QBID:168078




Sequence how an inmate is processed by the Correctional System ?

A. Vocational training
B. Admission

C. Discharge

D. Classification

E. Pre-release initiatives

Choose the correct answer from the options given below:

-

ol g gle

W
opnMy

P oo
WO w o
sl Nesie=

=

1) 1
(2) 2
(3) 3
(4) 4

GURIAD Tegfd gRT fbdl sicl & UHH 0 &1 S ddizd:

A. TGS UlRreur
B. Uadgl

C. 3HET

D. @ffRur

E. 7d RReTs 98

A= few 717 fasbedl A @ HEL 36X & = il

I.LE,D. € B A
2.D,B,A,C,E
3. B D AE C
4.A,B,C,D,E

(1) 1

) 2

3) 3

(4) 4

1[Option ID=19009]
2[Option ID=19010]
3[Option ID=19011]
4[Option ID=19012]

Sl. No.79
QBID:168079

Which of the following is the correct chronological sequence of the Prison Reform initiatives ?

A. Indian Jails Committee

B. 'Jail Administration in India' - report

C. All India Committee on Jail Reforms

D. All India Jail Manual Committee

E. All India Group on Prison Administration - Security and Discipline.

Choose the correct answer from the options given below:

1.LA,B,C,D.E
22A,.B.D CE
3.BAC,DE
4.C.E.D.B, A

1) 1

(2) 2

(3) 3

(4) 4




HRATR YR Ul Pl FHRId & 9 DI Fgl BIarhd ¢ 2

A. HRdIg Sid giffd

B. "HRd H S YR - Raié

C. ol YRI IR 31Rae Rdg giafa

D. 3RIA HRAR Sid A=gUe (g affd

E. BRATR YRITEH-YRET 3R SR el siRde R G5g

A few I fowedl § & T8I 3T #1 =T0 HITAT:

1.A,B,C,D,E
2.A,B,D,C.E
3.B.AC,D,E
4.C,E,D,B. A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19013]
2[Option ID=19014]
3[Option ID=19015]
4[Option ID=19016]

Sl. No.80
QBID:168080

Sequence how research is conducted in Criminology?

A. Identify variables

B. Draft the problem statement

C. Draft operational definition of variables
D. Write objectives

E. Draft tool

Choose the correct answer from the options given below:

1.B,D,A,C.E
2.A,B,C,D,E
3.A.D.B.E.C
4.E,D,C,A,B

1) 1

(2) 2

3) 3

(4) 4

SURTERIRA H U D1 gl 3IhH Fargl:

A. TR DI UgdHE S

B. UHXT S &1 YT a1

C. TR DI GRETE GRUN BT YRS g1
D. 329 feraH

E. gfad D1 YRS &1

e 2T 710 faeedl & & AL 30X & O9a il

LLB.D A CE
2. 8. B,C.D.E
3.8 DB, E.€
4 E.D.C.A.B
)1
(2 2

3) 3




(4) 4

1[Option ID=19017]
2[Option ID=19018]
3[Option ID=19019]
4[Option ID=19020]

Sl. No.81
QBID:168081

Sequence the following as they appeared

A. Social Structural Explanation
B. Classical School

C. Social Process Explanation
D. Positive School

E. Social Conflict Theories

Choose the correct answer from the options given below:

1.ED.C,B. A
2.B. 1A CE
3D.B.A.E.C
4.A,B,.C,D,E

(1) 1

) 2

(3) 3

(4) 4

FafiRad & 3I9b IaHd & Fal 3shH H HaRId DI

A, UHINSS IRIATHS ARSA
B. Y 9y
C. 9IS Ulchdr &t RS

D. YhRIAD GUGH
E. grTfore 9y firgid

A BT I fawedl & & T8I 3T &1 =4 HITAT:

LE B H o5
2.B. D, A.CE
3D, BAE. €
4.A,B,C,D,E

1

(2 2

(3) 3

(4) 4

1[Option ID=19021]
2[Option ID=19022]
3[Option ID=19023]
4[Option ID=19024]

Sl. No.82
QBID:168082




Sequence the process of making legislation in India

A. Seek Lok Sabha's Approval

B. Publish the draft in the Parliament website
C. Draft the legislation

D. Seek Rajya Sabha's approval

E. President's assent

Choose the correct answer from the options given below:

1.B,C,D,A.E
2.C.B.A.D.E
3.4,B/C.D,E
4.E,D,C,B,A
1) 1
(2) 2
3) 3
(4) 4
HRA H fae (701 1 ufdhar o1 98t o H H Hafkud $ifog:
A. AIBHHT DT SFHIGT AT

B. §UQ &l 43¢ IR URSY DI YhIRd BT
C. UM &1 URET TR Bl
D. IASTIHT BT STHIG AT

E. APl A W

A few I fowedl § & T8I 3T #1 =T0 HITAT:

1.B,C,D A.E
2.C.,B.A,D,E
3.8, B, G B.E
4.E D, C BA

1 1

() 2

(3) 3

(4) 4

1[Option ID=19025]
2[Option ID=19026]
3[Option ID=19027]
4[Option ID=19028]

Sl. No.83
QBID:168083

Sequence how a case proceeds in a Juvenile Justice system ?

A. Child Welfare Committee
B. Handed over to parents
C. Childline

D. Children home

Choose the correct answer from the options given below.

1.D,C.B.A
2.A,C.B. D
3.C,A.D.B
4.A.B,C,.D

11

(2) 2

3) 3

(4) 4




fPRIR T et # fob it Hepvur bl prdarel & WAl &1 el 2iehH H diRd SIfoe:

A. 91d Hror 9iHfa

B. HIA1-[UcT &1 9ig=1
C. dIgcsdig-
D. dlcli]e
A feu aTv famedl # & HWEl I 1 =99 HIfAT:
1.D . B.A
2.A.C.B.D
3.C,A.D.B
4.A,B,C,D
1) 1
() 2
3) 3
@) 4

1[Option ID=19029]
2[Option ID=19030]
3[Option ID=19031]
4[Option ID=19032]

Sl. No.84
QBID:168084

Scquence how treatment for addiction is given ?

A. Counselling

B. Manage withdrawal symptoms
C. Release prevention planning
D. Chronic use

E. Detoxification

Choose the correct answer from the options given below:

DB A
2.E.B.D.C.A
3.4, B/C.D.E
4.D,B,E,A,C

1) 1

() 2

3) 3

(4) 4

O (TSR & ITAR BT Tgl 3HH ¢
A R

B. fafac @&l &1 FaRu
C. FaRu Fa1sH &1 gR1dad-
D. FeRe1fere IuHIa

E. Afdsias=or

A fou a1T fawedl & & HEL 3w # 99 ST

1.LE,D,C,B,A
2B, B, D, C.A
3.ABCD.E
4.D,B,E.AC

1) 1

(2) 2

(3) 3

(4) 4




1[Option ID=19033]
2[Option ID=19034]
3[Option ID=19035]
4[Option ID=19036]

Sl. No.85
QBID:168085

Sequence how a case proceeds in the case of a child above 16 years committing a heinous crime ?

A. Children's Court

B. Preliminary Assessment

C. Heinous crime by a child above 16 years
D. Presence of need for trial

E. Juvenile Justice Board.

Choose the correct answer from the options given below:

1.E.D.C,B. A
2.C,E.B,D,A
3.3BECAD
4. A, B.C.D,E

1) 1

(2) 2

(3) 3

(4) 4

16 Y U HIYP TG & T HURTY B dTdl T o by H YU &1 Drddi] &l Yol ShH H sqaiyd

A. 916 OEEy

B. URIH® 3fdHad

C. 16 9N ¥ 3¢ (1Y 1l dTd gRI IR STH=T HURTY
D. [q9RUI P aZgahdl &1 IUrfd

E. fouRumes

A fgu a0 faedi # & A96L IR F 99 AT

LED.CB. A
200 EB D A
3.B.E.C.A.D
4, A,B,C,D,E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19037]
2[Option ID=19038]
3[Option ID=19039]
4[Option ID=19040]

Sl. No.86
QBID:168086




Given below are two statements :

Statement I : Criminology research frequently involves the obtaining of data from persons who could be
criminally prosecuted based on the information given to the researchers.

Statement II : The ethical commitment of the researcher should not be to those who have provided the research
data with the understanding that adverse consequences would happen to the data provider.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true

1) 1

) 2

(3) 3

4) 4

AT g7 Fue Bw v §:

FU | FRTIARH HTA H M3 F &7 315 Gl & HAR W ARIGF &9 3 HAARIT o Gevel arel edfFad! & aRaR gvs
wIed e Afde gl

e || efraedt off sifded wideeear 3wk afd 781 g wfev e 59 erast & A oy & wgd & § & &d vere &et
AT S ¥ i RO SR g3

3UEd FAA F el H, A o v fawedl F O T 39 1 =9 ffei:
1. o | 3k 1l &1 a@ca &
2. Fua | 3R 1 EET s B
3. Fua | IcT &, et e |l 30T &

4, e | 39 B, o wue 1| g §
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19041]
2[Option ID=19042]

3[Option ID=19043]
4[Option ID=19044]

Sl. No.87
QBID:168087

Given below are two statements :

Statement I : Routine Activities Theory was first articulated in a series of papers by Lawrence Cohen and Marcus
Felson. According to them, the volume and distribution of predatory crime are closely related to the interaction
of three variables that reflects the routine activities of the typical American Lifestyle.

Statement IT : According to Cohen and Felson, lack of capable guardians include: Police officers, home owners,
security systems and parents.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but statement II is incorrect

4. Statement I is incorrect but Statement II is correct
11




) 2
3) 3
(4) 4

AR g7 Fud e v g

Fye | AfETE FRiwers Rgaia $f 997 gea &7 & TEUuH oR¥ $iga iR ART hewded carT uigd TS & s & & s
offl 3% 3R TarETed WO & OReTST 3R SHET AfaaRor 39 diel =R & 3eafhar § Tge ¥ § H@afad § Sote wwdn
HA{ET Shaadlel #r AR afafafmr aenfa gl g

Fue || 1 Fgd R Fewd § AR HaH AHHES & e A GEATAT & 9o siEer), el & wand, g vonfan 3R A
IEGH

IWad FUS & Aol A, d Be o RBaedl F & Fed 39IFd T T 99 BT
L= | ik Il =1 wér &

2. Fue | T ST Tea B

L

. FY | wEr &, Afte sy |l e §

4, Foa | 7T &, ofcheT w1l |67 &
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=19045]
2[Option ID=19046]

3[Option ID=19047]
4[Option ID=19048]

Sl. No.88
QBID:168088

Given below are two statements :

Statement I ; Criminologists conduct surveys which typically involve sampling, sampling refers to the processs
of selecting for study a limited number of subjects who are representative of entire groups sharing similar
characteristics, called the population.

Statement IT : Criminologists use one common survey method called self-report survey which asks particpants to
describe in detail. their recent and life time criminal activity.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement IT is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2) 2
3) 3
4) 4




A 2 Fue fer e B

FUT | I A&7 g ¢ olad weld 79 § yfdgad 3igdea g1 9= & acgd e & v @ifag 9w § 39
AT H GoAa H WA 4 § S ve He [T [Ee arel §Ha S FUd e & iafat g B

FUS || : FRATAT Uk 33ATSe FdaTT Jedid & UEET Xd ¢ 98 HcA-Uiddce FaaToT $El A ¢l SUH AfdsniEE & 39
safear AR seiaa &1 3TUfE St Fr g6 ATE WA & FT FEr AT &

IWIad HUA & Hielldh A, @ RE a0 Fahedl # & Tad 3UGFd II & 99 HITIT:
1. 7o | 5k 1l =7 w6 &
2. Fua | 3R 1 St e §
3. Fua | G &, oifchel wue |l e &

4, Fua | Teg &, ofcheT w1l @67 §
(1) 1
(2) 2
@3) 3
(4) 4
1[Option ID=19049]
2[Option ID=19050]

3[Option ID=19051]
4[Option ID=19052]

Sl. No.89
QBID:168089

Given below are two statements :

Statement I : Juvenile Justice Board shall consist of a Metropolitan Magistrate or a Judicial Magistrate of first
class with atleast three years experience and two social workers, of whom as least one shall be a woman.

Statement II : No social worker shall be appointed as a member of the Board unless such person has been
actively involved in health, education, or welfare activities pertaining to children for atleast seven years, or a
practicing professional with a degree in Criminology, Child Psychology, Physician, Sociology or Law.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4




A 2 Fue fer e B

Fud | iR = &3 - v Agifeed Aot a1 yud Ao & =ride Sefae O & ue &7 § &7 die a9 &1 Feea gl
HR & gfeie ®dwar SEd @ ve #fger gl @ @esw aam

Fua || : T off Genfos Fdedr 1 915 &1 GeET a9 dF 6l adi@T AT o9 d& 6 dg oAidd dieldl & Tareed, foa ar
FEAURRT ATGTEERT T &7 O FH I1d a9 OF Hpec a7 FWERIET I Aaiaa a7 #AaRE Aiecar 7 aaeartas B e a3
cgaart 78T &

IIFT FA & Helw A, A U 70 FehedT A § G 3099 SR & =994 HI=0:
l.wa= | 3k 1 = wér &

2. Fue | TN ST Tea B

Lad

.U | T8 &, e &y |l aerd &

4. Fuer | 0T &, oifhe wueT 1l |67
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=19053]
2[Option ID=19054]

3[Option ID=19055]
4[Option ID=19056]

Sl. No.90
QBID:168090

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion (A) Deviance is a quality of the act a person commits.

Reason (R) Deviance is the consequence of the application by others of rules and sanctions to an offender.
In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is not false but R is true
1) 1
) 2
(3) 3
(4) 4

A1 &7 e Rw v §: v wfEwue (Assertion A) F &7 i @ ¥ ar g@wr 38% #ROT (Reason R) F 37 #:

F#wT A : aee &fdd @ e St arel &g & U 9T g

&ROT R : famers, el 3rRreh & wid o) g arer s 3iR ufded’ &1 3ea & gant e e arer syt & 9RonA

ITIFT FUA F FAw A, A9 BT AT @A 7 & GE_ITK F 949 T |

LAMR RS g § 3R R, A Fr o8 e §

. A 3R R @G a7 §, 9fa R, A & Tgr e a8 &
ATt oA R T #

AT taa RO ?

) 1

(2) 2

(3) 3

4) 4

b D =

=

1[Option ID=19057]
2[Option ID=19058]




3[Option ID=19059]
4[Option ID=19060]

Sl. No.91
QBID:168091
Read the following paragraph and answer the five questions that below :

A study entitled “Urban-Blue green conundrum’ was conducted by a U.5. Based non-profit organization, which was a 10 city study on the impacts of urbanization on
natural Infra structure in India. The study was conducted in Ahmedabad, Bengaluru, Chennai, Delhi, Hyderabad, Jaipur, Kolkata, Mumbai, Pune and Surat — Which
accounts for around a third of India’s urban population. Between 2000 and 2015, the built up area in these cities increase by an average by 47 percent and 134 percent
within 0-20 km of the city centre and 20-50 km (periphery) infectively, simultaneously blue cover decreased by 15%.

fau U e @ ufeu 3R Uy WW & IR SIS

4 0q. [Rd U TR-AHDR W16 gRI e dl-AideRd A=l (3fd-sg UM HIYgH) AMHS Ne J Uh
e fohan 1T fSr 9 H HRA & WIhide SMTURHT A= IR TWRIBRUN & UHIG didl 10 g IR fhT 7Y
LTI D1 AN fhaT 71 UT1 I AL SgHETdIE, S, 993, ], geriale, SgUR, Sidbdl, Hids,
U1 3R YT S 2R H o 1 SR YR &1 Qg1 ST &1 i THA fagTs | fHarg il &1 9y
2000 ¥ 2015 & A, 39 g3 §, SHARG A &l & Hawn: 47 ufdwd &t 2R 988 &5 (@R) & 0-20 fHHL.
%ﬁﬂwﬁzo-%%ﬂﬁmﬁvﬂﬂ &) & HiaR 134 Ua=Id @1 93l §3. T1Y B FIY i STaR0] &7 (&g DaR)
H 15% Pl HHI g3 |

The blue cover in the paragraph refers to which of the following?

1. Area of construction
2. Area under water bodies
3. Area under open spaces
4. Area under trees/plant coverage
1 1
2) 2
(3) 3
4) 4

i H Sfcrad i siiaro &7 (s ) Fafafad J 9 fead i g

1. fRgior &= dedt e

2. 9Id Ml & 3f=Rid &3

3. Had & (RIF) & 3f=tid &3

4. J&{/UTEY STaRUI &7 &b 3= &=

(1) 1
() 2
3) 3
(4) 4

1[Option ID=19061]
2[Option ID=19062]
3[Option ID=19063]
4[Option ID=19064]

Sl. No.92
QBID:168092
Read the following paragraph and answer the five questions that below :

A study entitled ‘Urban-Blue green conundrum’ was conducted by a U.S. Based non-profit organization, which was a 10 city study on the impacts of urbanization on
natural Infra structure in India. The study was conducted in Ahmedabad, Bengaluru, Chennai, Delhi, Hyderabad, Jaipur, Kolkata, Mumbai, Pune and Surat — Which
accounts for around a third of India’s urban population. Between 2000 and 2015, the built up area in these cities increase by an average by 47 percent and 134 percent
within 0-20 km of the city centre and 20-50 km (periphery) infectively, simultaneously blue cover decreased by 15%.

fau 77E Teriw & ufeu 3R Uy e & IR Sifoig|

4 Uy, [Qd U IR-ATHSHRI Y3 gRI Wel-AagRd o= (Ha-q U BI-ggH) A8 s J Th
e fohaT T fST 9 H HRA & Wi fde SMTURHT T 9 TWRIBRUN & YHTG dicl 10 g IR fhT 7Y
T D1 RAMH fhaT 71 1| Ig L SgHEIEIE, S, I93, o], geriare, SUR, Piebdl, Hids,
U} 3R G oY exi H foban 71 fSr g8 HRd i Qed! SIS &1 TRTHAT fdgls YT (Hary odl g | 9y
2000 T 2015 & AL, 39 WXl H, ARG T &7 & HHRT: 47 U= 3 2R W6 F= (PR) & 0-20 o,
%ﬂﬂﬂﬂézo&gﬁ%ﬁﬂﬁ%ﬁa &) & iR 134 UIA=Id @1 93 IR B3, T1Y B I1Y i STaRUT &7 (s HaR)
H 15% I BH g3




The study referred to in the para above was conducted in:

. 20 cities
. 10 cities
. 47 cities
. 15 cities
11
(2) 2
(3) 3
4) 4

ORI TR H Jeyd gU 31eq H FHifdhd faha- el o1 At faar 7y am

1. 20 e
2. 10 e
3.47 e
4. 15 e}

(1) 1
(2) 2
(3) 3
4) 4

W b —

=

1[Option ID=19065]
2[Option ID=19066]
3[Option ID=19067]
4[Option ID=19068]

Sl. No.93
QBID:168093
Read the following paragraph and answer the five questions that below :

A study entitled ‘Urban-Blue green conundrum’ was conducted by a U.5. Based non-profit organization, which was a 10 city study on the impacts of urbanization on
natural Infra structure in India. The study was conducted in Ahmedabad, Bengaluru, Chennai, Delhi, Hyderabad, Jaipur, Kolkata, Mumbai, Pune and Surat — Which
accounts for around a third of India’s urban population. Between 2000 and 2015, the built up area in these cities increase by an average by 47 percent and 134 percent
within 0-20 km of the city centre and 20-50 km (periphery]} infectively, simultaneously blue cover decreased by 15%.

fau U T ol ufe T 3R Uy TB & IR SIS

4. 0d. [RId U TR-AHDR] G116 gRI Wedl-AideRd GH& (efd--sg UM HIIgH) AHS NS J Th
e foban 1T fST 9 H HRA & Wi fde SMTURHT A= IR TWRIBRUN & YHTG didl 10 g IR fhT 7Y
LTI D1 M (haT T UT| T AL SgHETSIE, S0, T35, (Gl gaxiale, SR, i, s,
qUT 3R G iy e H fdhan 71 fS G HRd B /e8] SIS @ TRTHIT [dgls YT Hard @l g | 9y
2000 I 2015 & HeA, 34 el H, IARG FHT & H HHL: 47 Ufdwd @t 3R A8 I (BR) & 0-20 fHHL.
?ﬁﬂﬂﬂwﬁzo-%ﬁmﬁmﬁvﬂaﬁmaﬂﬂm 134 YId=Id $1 SRRl 3. 1Y 81 91y -1id S1dRu] &7 (sq Hav)
H 15% Bl HHI g5

In which of the following cities was the above study conducted ?

Use the codes given below

A. Mumbai
B. Surat
C. Jaipur
D. Delhi
E. Shillong
1. A. D and E only
2.C,Dand E only
3.B, Cand E only
4.A,B.C,Donly
1
(2 2
(3) 3

(4) 4




SRl srera afciRad fovt 2ell # wenierd fobu g 2 i feu ®e &1 v SIS

A HH3
B. gd

C. TR
D. [aeel
E. Rraim

A few I fowedl § & T8I 3T #1 =T0 HITAT:

1. $TdA. D 3IRE
2. %dd C,D AR E
3. Hdd B, C 3R E
4.%dd A, B,C.D

1) 1
) 2
(3) 3
(4) 4
1[Option ID=19069]
2[Option ID=19070]

3[Option ID=19071]
4[Option ID=19072]

Sl. No.94
QBID:168094
Read the following paragraph and answer the five questions that below :

A study entitled ‘Urban-Blue green conundrum’ was conducted by a U.5. Based non-profit organization, which was a 10 city study on the impacts of urbanization on
natural Infra structure in India. The study was conducted in Ahmedabad, Bengaluru, Chennai, Delhi, Hyderabad, Jaipur, Kolkata, Mumbai, Pune and Surat — Which
accounts for around a third of India’s urban population. Between 2000 and 2015, the built up area in these cities increase by an average by 47 percent and 134 percent
within 0-20 km of the city centre and 20-50 km (periphery) infactively, simultaneously blue cover decreased by 15%.

fau U TTerie B ufeu SR Uy TB & IR Sifoid|

70y, [Qd Ud IR-ATHSBRI Y13 gRI Wedl-AdagRd o™ (SH6-sq U DI-ggH) A s J Th
e fohar 1 TS99 H HRd & UThided SRy ST IR RIS & YHIT dlel 10 U3 W fb Ty
ST D1 RAMH fhaT 71 1| I L SgHEEIE, 7%, I93, o], Seriare, STUR, Piebdl, Hids,
qu} 3R G i Aexi H foban 1 fSrgH HRd i Qed! SN &1 @RTHT fdgls {1 (Hard didl g | 9y
2000 ¥ 2015 & A, 34 g0 U, SHARG FHT &3 8 HH: 47 Uided &1 3R W8 b (PR) & 0-20 fHHL.
%%deo-%ﬁﬁmﬁ%ﬂﬂ &) & AR 134 UA=Id &1 931 g5, T1Y B 1Y e TR0 & (s HaR)
H 15% DI HHI g3 |

The built up area in these cities increased by 134% in the:

L. Core areas
2. Within 0-20 kms
3. Periphery areas
4. Rural Areas

1) 1

) 2

(3) 3

4) 4

31 eI & FARC AT & 3 Hefid fobo &l # 134 uidwd o1 afe 532

1. 48 (PR) &4

2.0 9 2 fHHl. & iR aran &
3. givefi &

4. gTHivr &3

(1) 1
) 2
3) 3
(4) 4




1[Option ID=19073]
2[Option ID=19074]
3[Option ID=19075]
4[Option ID=19076]

Sl. No.95
QBID:168095
Read the following paragraph and answer the five questions that below :

A study entitled ‘Urban-Blue green conundrum’ was conducted by a U.S. Based non-profit organization, which was a 10 city study on the impacts of urbanization on
natural Infra structure in India. The study was conducted in Ahmedabad, Bengaluru, Chennai, Delhi, Hyderabad, Jaipur, Kolkata, Mumbai, Pune and Surat — Which
accounts for around a third of India’s urban population. Between 2000 and 2015, the built up area in these cities increase by an average by 47 percent and 134 percent
within 0-20 km of the city centre and 20-50 km (periphery) infectively, simultaneously blue cover decreased by 15%.

fau 77E Teriw & ufeu 3R Uy e & IR Sifoig|

4 Uy, [Qd U IR-ATHSHRI Y3 gRI Wel-AagRd o= (Ha-q U BI-ggH) A8 s J Th
e fohaT T fST 9 H HRA & Wi fde SMTURHT T 9 TWRIBRUN & YHTG dicl 10 g IR fhT 7Y
T D1 RAMH fhaT 71 1| Ig L SgHEIEIE, S, I93, o], geriare, SUR, Piebdl, Hids,
U} 3R G oY exi H foban 71 fSr g8 HRd i Qed! SIS &1 TRTHAT fdgls YT (Hary odl g | 9y
2000 T 2015 & AL, 39 WXl H, ARG T &7 & HHRT: 47 U= 3 2R W6 F= (PR) & 0-20 o,
& HiaR Td 20- %%ﬁmﬁ%ﬁt{éﬁ)aﬁﬂﬂ?134uﬁmaaﬁaﬁﬂﬂ§iwu€mu:ﬂa&ﬂfﬁw%ﬂ@m)
H 15% I BHI g3

These cities have percent of Indian urban population

1[Option ID=19077]
2[Option ID=19078]
3[Option ID=19079]
4[Option ID=19080]

Sl. No.96
QBID:168096
Read the following paragraph and answer the five questions that below :

Characteristics of a qualitative research problem are; The concept in immature due to lack of theory or previous research; A notion that the available theory is
inaccurate; A need exist to explore and describe a phenomena. In a quantitative project, the problem is best addressed by understanding what factor or variables
inference the outcome. In this method the researcher sometimes advance a theory to test. A mixed method study can employ either the qualitative or the quantitative
approach (or some combination)

fafafad Teiy & ufed 3k I deifea uel & IR Sifoe:

U STHUH-FHRSH b [A=IVATT B: R¥¥gid a1 Yd-2fJ8eT & 3{HId & PRUI I HIYRUN Ad-H4l g;
g =PIV b Iuaisdl Riid Gl 81 g bl YehH 1 Udl T 3R IHP! RSN B i TGl 6 |
AEATHS YRGS H 39 GH-1 D1 Faiad FaRu 39 €1d &I grex I gidl & b gRums ufdwa) o
gooh! g1 =R 9 UHIfdd gid 8| 39 fafl 1 S{gem ddl defl-bHt wievl-Rsid wdd @Rd ¢ | Uil fafer
aimw;@fmaﬁaﬁ&Wﬁmaﬁwa{www(a{wWW)wWWW
gaHar gl




From the above paragraph when a researcher focuses on Independent factor contributing to a dependent
factor/variable, he/she used

1. Mixed Method
2. Research Method
3. Quantitative Method
4. Qualitative Method
1) 1
(2) 2
(3) 3
4 4

SRR TRT SATUR W FA1Y foh 5d Pig STl fhdl AT SRR H e $H- d1d FRIYd PRD
TR 99 &dl o/l & 1 98 Hgifd H ¥ et T SRy o

1. 1ot fafy
2. =Yy fafer
3. AT fafe
4. U fafey
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=19081]
2[Option ID=19082]
3[Option ID=19083]
4[Option ID=19084]

Sl. No.97
QBID:168097
Read the following paragraph and answer the five questions that below :

Characteristics of a qualitative research problem are; The concept in immature due to lack of theory or previous research; A notion that the available theory is
inaccurate; A need exist to explore and describe a phenomena. In a quantitative project, the problem is best addressed by understanding what factor or variables
inference the outcome. In this method the researcher sometimes advance a theory to test. A mixed method study can employ either the qualitative or the quantitative
approach {or some combination)

fgfeiRad e &1 ufed ik 399 Heiferd sl & 3w difoe:

UTcHSD STHUH-FHESH b [N 8: [¥sid a1 Yd-2fJ8eT & 3{HId & HRUI g HIYRUN AdI-Hl ¢;
g =PI fob Iuarsy Rgid 9l g1 §; [l UshH &1 Ul T SR JHSD! URAT I D1 AT ¢ |
RS URTSHT H 39 GHWT 1 gdiad IR Y 1d & el 9 gidl ¢ fob aRom wfdwd) fo=
geh! g1 =RI Y U gidT ¢ | 39 1A H e ddl dl-aHt wRigvl-Risid wdd @vd ¢ | Uil f[afe
asmw;ﬁﬁfwﬁaﬁ 3G H 1 dl YUIEAD 3YdT AEATHD ST (31YdT bt ) 1 uaiT fobar s
Adhdl el

From the above paragraph, when a resarcher want to formulate a theory to test, the methodology he /she uses is:

1. Mixed Method

2. Quantitative Method
3. Research Method

4. Qualitative Method

1)1
(2) 2
(3) 3
4) 4

U URI & 3MYR W IdIU fob 5 iy SFfHMHD T Tigr Rigid o1 wfdured ®1 digdl g dl 39D §R]
feifesd ® T T fafes &1 vieT feban Sira &:

1. Uil fafy
2. HETHSD fafe
3, QY fafe

4. 7O fafey




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19085]
2[Option ID=19086]

3[Option ID=19087]
4[Option ID=19088]

Sl. No.98

QBID:168098
Read the following paragraph and answer the five questions that below :

Characteristics of a qualitative research problem are; The concept in immature due to lack of theory or previous research; A notion that the available theory is
inaccurate; A need exist to explore and describe a phenomena. In a quantitative project, the problem is best addressed by understanding what factor or variables
inference the outcome. In this method the researcher sometimes advance a theory to test. A mixed method study can employ either the qualitative or the quantitative
approach {or some combination)

frafafad meiw & ufed ok 3w d&fed gl & S AT

U STHUH-GHI3M b [N 8: [¥id a1 Yd-J8eT & 3{HId & HRUI I HIYRUN Ad1-Hl ¢;
g =PDIU foh Iuas RIGId Weld ol o [l WshH 1 Udl A 3R ITeh! RSN B B HThdl 5 |
AETAS YRAISHT H 39 GA™T &1 Ydiad FHaRvl 39 §1d & Y69 3 gidl ¢ [ gRum (widwa) [d-
gl g1 =R ¥ YA gId1 8 | 39 fafl H srf&em ddl dal-bH wieul-Rigid wdd ®rd ¢ | Uebivf faferi
aamw;ﬁﬁ?wﬁaﬁ 31 H 1 dl OIS 3YdT AEATHD JUTTH (31ydT bt ) 1 uaiT fobar s
RETSIES

A mixed method uses which among the following ?

A. Quantitative method

B. Theoritical method

C. Qualitative method

D. Both quantitative and Qualitative method

1. A, B, C are correct
2. B, C, D are correct
3. A, C, D are correct
4. A, B and D are correct
11
(2) 2
(3) 3
a) a

g 10t (FhfSid) fafds # fgifebd & 9 T faferl 1 uaivT foban Sl g: <1 fau 71U Se o1 wanT Hifsie

A. AETHES [y
B. Ugifce fafy

C. U fafey
D. AEATHD 3R UIEHD I fafy

1.A,B,CUgl gl
2.B.C,DUsI gl
3.A,C,D UGl gl
4.A.B3RD el gl

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19089]
2[Option ID=19090]
3[Option ID=19091]
4[Option ID=19092]

Sl. No.99
QBID:168099




Read the following paragraph and answer the five questions that below :

Characteristics of a qualitative research problem are; The concept in immature due to lack of theory or previous research; A notion that the available theory is
inaccurate; A need exist to explore and describe a phenomena. In a quantitative project, the problem is best addressed by understanding what factor or variables
inference the outcome. In this method the researcher sometimes advance a theory to test. A mixed method study can employ either the qualitative or the quantitative
approach {or some combination)

fgfeiRad e &1 ufed ik 399 Heiferd usi & I difoe:

UTHSD STHUH-GHRSM B [N 8: [¥aid a1 Yd- 2 J8eT & 3{HId & HRUI g HIYRUN Ad-HHl ¢;
g =PIV [ Iud= Gl Teied ol o: [hdl UshH &1 Udl M 3R D] RS B B HaHdl 6 |
RS URTSHT H 39 GHWT 1 gdiad R Y §1d & el 9 gidl ¢ fob aRom wfdwa) f=
geh! g1 =R Y U gidT ¢ | 39 1Al § Sryem ddl dl-aHt wRigvl-Risid wdd @vd ¢ | Uil f[afer
asmw;ﬁﬁmaﬁaﬁ 31 | 1 dl qUIEAD 3YdT AEATHD ST (314dT bt i) o1 yaiT fobar s
SEIE]

Which among the following methodology be used when there is no theory to explain a phenomenon ?

1. Quantitative method
2. Mixed method
3. Qualitative method
4. Research method

1) 1

2) 2

(3) 3

4) 4

e 3t aReeT (UshH) @ ara a3 & o &1s Rigid ol eidl & dl Agifed & 3 {59 ugfa &1 wam
o ST 82

1. AETHS fafe
2. Uil () fafe

3. UMTHD fafyr
4. Qmy-fafy

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19093]
2[Option ID=19094]
3[Option ID=19095]
4[Option ID=19096]

Sl. No.100
QBID:168100
Read the following paragraph and answer the five questions that below :

Characteristics of a qualitative research problem are; The concept in immature due to lack of theory or previous research; A notion that the available theory is
inaccurate; A need exist to explore and describe a phenomena. In a quantitative project, the problem is best addressed by understanding what factor or variables
inference the outcome. In this method the researcher sometimes advance a theory to test. A mixed method study can employ either the qualitative or the quantitative
approach (or some combination)

TR Bl gfed 3R 399 Gafdd Ui & IR SifvIe:

TS STUH-GHRI3M b [aRINATY §: Riid 1 Yd-28eT & 3HId & HRUI g TR Fa-H1 ¢;
g SPDIU [ JudsH RIGId Uel ol o [l UshH BT Udl i 31 3| IRSAT HR- DI HaIHdl 5 |
AEITAS YRGS H 39 GA-1 1 FaiaH FaRul 39 &1d S g2resr I gidl & & gRkom ufdea) e
gZoh! g1 =R UHTAd gIdl 8 | 39 [af H Si{&em ol dal-bH wievl-Risid WRdd ®3d ¢ | Uebivf fafer
asmw;ﬁﬁhwﬁaﬁ 31 | 41 dl qUIAD 3YdT HEATHAD JUTTH (31ydT b3t ) 1 uaiT fobar s
Hhdl g |

From the above paragraph, explorative research requires:

1. Research method

2. Quanlitative Method
3. Mixed method

4. Quantitative method




1) 1
(2) 2
(3) 3
(4) 4

SR ORT & SR WR galC o AV A8 H Hgifdd o 9 91 s gidl g2

1. Qe fafer

2. U fafer
3. gpivi fafe
4. HIEATHSD afe

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=19097]
2[Option ID=19098]
3[Option ID=19099]
4[Option ID=19100]

Sl. No.101
QBID:9201001 o _ o S
The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,

namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
[Hyderabad 10% 8%
Pune 12% 6%
Chennai R% 10%
Mumbai 10% 18%
Calcutta 24% 16%

afead aifere 1 av 2010 SR 2020 F R WA HRA e A STAR, [, gax1amE, gul, 99,
OiEg SR Dlaed § sscl I Halvd Aot o Ridaal o1 uiasd oo gxiia /g 1 ad 2010 3R
2020 & GRM 54 el § RiGdl &1 Ha a1 5% 5.4 ARG 3R 8.6 TG ¢ | 59 dIfaid! | QU Y
B! & HYR W TY BT IR Aol -

Tiefai @t fdadl &1 wgwar faa=m

HId Al Dl Riddal &l
e TR (%)

bol0 o020

g [13% [22%

sl b1 [0%

oXEG  10% 8%

ot 12% 6%

EEH 8% 10%

GREE 10%  [18%

SiadE 4% |16%

What is the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
A

1. 108200
2.113120
3. 118400
4. 96400

1) 1
(2) 2
(3) 3
(4) 4




Ty 2020 3R 2010 B STAR & Iuas el ol Ridaal o Sen § iR [Fare 2

1. 108200
2.113120
. 118400
. 96400
1) 1
(2) 2
(3) 3
(4) 4

e 2

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]

Sl. No.102
QBID:9201002

The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 4% 16%

frafafad aiferet 7 ad 2010 R 2020 F SR G YR W6 Aa: SR, e, saxEms, gol, 39k,
OrEg SR DIae § sscl I Halud Aot o Ridadl o1 ufasd oo gxifan /i g 1 ad 2010 3R
2020 & SR 34 el H RG] i $o a1 51T 5.4 ARG SR 8.6 TG © | 39 dlfaid! | [GU Y
MHSI & HYR W TY T IR Ao -

Fiefai 3t fdaa! &1 wgwar faa=m
Hi 1| @I Ridl &1
e T (6
D010 [2020
AN [15% 2%
sl b1%s 0%
[EoxEE [10%  [5%
o 12% 6%
EEH 8% 10%
GLEE 10%  [18%
DIadidr P4 [16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

1. 41080
2. 42740
. 61400
. 62800
)1
(2 2
(3) 3
(4) 4

¥ 2020 3R 2010 H gx1@1g § SUasy Ao Ral ot Rigaal &t i dwer fad-i g 2

. 41080

.A42740
3. 61400
4. 62800

1) 1

() 2

(3) 3

(4) 4

g ¥V

| SR




1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]

Sl. No.103
QBID:9201003
The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,

namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

Citv Distribution (%0) of Job Vacancies
= 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 2% 10%
MNumbai 10% 18%
Calcutta 24% 16%

fafeiaa arfeet @ ad 2010 3R 2020 & SRF I1d YR [ AHa: STaR, oo, gaxame, gol, 995,
OiEs SR DIaedl | sacl J Hafed At o Ridaal o1 ufaed faavur guiar i g 1 ad 2010 3R
2020 P RM 57 X6x 1 RIGTd! B o G- PHH: 5.4 TRE 3R 8.6 TG & | 59 Al § (4T MW
HPa] & YR WYY BT IR Gl :

it o1 Rfeqat @1 welar [Gawo
IRl ol il &l
e e (o)
bolo 020
RSB 15% 2%
(sl 21%  [20%
@ [10% g%
quf 12% 6%
EEH 8% 10%
ey [10%  [is%
HAdE 4% |16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

1.1.92 lakh

2.1.98 lakh
3.2.04 lakh
4.2.16 lakh

1) 1

(2) 2

(3) 3

(4) 4

Ty 2010 H =9s SR TN 2020 H Gras O SUae AioRdl o1 Ridadl o o e et g 2

1.1.929/g
2.1.98¢g
3.2.04 TlE
4.2.16¢ld

1[Option ID=19509]
2[Option ID=19510]
3[Option ID=19511]
4[Option ID=19512]

Sl. No.104
QBID:9201004




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely. Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Caleutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 4% 16%

frafafad aiferet & a9 2010 SR 2020 F SR A1 YR WG AHaG: SR, e, saxmEms, gol, 3.
Oreg SR DIaed | sscl 3 Hafed Aot o Riaaal o1 ufisd oo gxifan i g 1 ad 2010 3R
2020 % GRM 37 Xex 1 RidTdl B o T-1 HU: 5.4 ARI 3R 8.6 TG & | 39 alierep! 1 f4U Y
MHSI & HYR W TY T IR Ao -

e feal @t Rfdaal &1 TgRar faavu

HI1Ld] Bl Ridadl &1
BIRDY T (o)
0

D010 o2
AN [15% 2%
sl b1es  povs
ExEE [10%  [5%
qor 12%  [6%

EEH 8% 10%
=y [10%  Jis%
daIdbIdl [24% 16%
If the number of vacancies in Pune is 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

1.1.20 lakh
2.1.32 lakh
3.1.48 lakh
4. 1.60 lakh

1) 1

) 2

(3) 3

(4) 4

afg g 2020 & ot & Rfdaal &t @ 48000 § 3R g1 ufor=rd faazor awn &1 § o arfeer & fgar
®. df af 2020 F et & Suaes Riaal &t Sen feat g 2

1. 1.20 °lig
2.1.3279
3.1.487lg
4, 1.60 TG
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19513]
2[Option ID=19514]

3[Option ID=19515]
4[Option ID=19516]

Sl. No.105
QBID:9201005




The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely. Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Caleutta during the years 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 4% 16%

frafafad aiferet & a9 2010 SR 2020 F SR A1 YR WG AHaG: SR, e, saxmEms, gol, 3.
Oreg SR DIaed | sscl 3 Hafed Aot o Riaaal o1 ufisd oo gxifan i g 1 ad 2010 3R
2020 % GRM 37 Xex 1 RidTdl B o T-1 HU: 5.4 ARI 3R 8.6 TG & | 39 alierep! 1 f4U Y
MHSI & HYR W TY T IR Ao -

e feal @t Rfdaal &1 TgRar faavu

HI1Ld] Bl Ridadl &1
BIRDY T (o)
0

b010 202
GHINIE 15%  [22%
sl D1% 0%

ExEE [10%  [5%
o 12% 6%
EEH 8% 10%
=y [10%  Jis%
Diadidl 4%  [16%

What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 ?

.23.21%
. 24.52%
.26.24%
.27.41%
11
(2) 2
(3) 3
(4) 4

Ty 2010 F aY 2020 TP gaxIaTe 1 Juas AIH Rl &1 Rigadl T TmaT fbd- vl &1 & g3 2

.23.21%
. 24.52%
.26.24%
.27.41%
(1) 1
) 2
3) 3
(4) 4

Fa =

S ¥V

| SR

S IS

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]

Sl. No.106
QBID:9201006




The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A Infosys Ltd.

B. Google Inc.

C.TCS

D. HCL Ltd.

E. Persistent System Ltd.

Choose the correct answer from the options given below:

1.B and D only
2. Cand E only
A and C only
.B and E only
1) 1
2) 2
(3) 3
4) 4

TO9E ¥ W0 (SWAYAM) T @B FY 5 T frad Ieum I fRien Ty 3R tIUeRud (NPTEL),
SME3TeCt (IIT) 7S gRI fae g fbar T g |

A iRy fafics
B. TTd 5.
c. eRilTg
D. Tdivd faffes
E. gfiee fywen fofies
i AU U f[d el o T Il SR &1 994 B

1. Had B 3R D

da L

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
QBID:9201007

Match List I with List IT

LIST I LISTII
(Componanis) (Learning Theory)
A |Stimulus-Response I |Cognitivism
B. [Networking II. |Constructivism
C. |Schemas II1. |Behaviourism
D. [Reasoning IV. |Connectivism

Choose the correct answer from the options given below:

. AL, B-II, C-IIT, D-IV
. A-IIL, B-IV, C-I, D-II
. A-IV, B-I, C-II, D-III
. A-TI, B-IV, C-IIL, D-I
) 1
(2) 2
(3) 3
(4) 4

ka3 =

ES S




il 191 gl 11 ¥ [ Sifere

g1 L et
(4CH) (aifrra Ryt
I

A [FRIUF-3fhar BEIREIH
B. Heafo I [ge=mEe
C. [0l II1. [PddelEdlg
D. [adar V. [ggiearg

fafeiad fdedl § ¥ 9ol 3Tk &I 98- DI :

1. A-1, B-IL C-III, D-IV
2. AL B-IV, C-I, D-II
3. A-IV, B-I, C-II, D-III
4. A-I1, B-IV, C-III, D-I

11

(2) 2

(3) 3

(4) 4

1[Option ID=19525]
2[Option ID=19526]
3[Option ID=19527]
4[Option ID=19528]
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What does the letter 'R’ in instructional design model of teaching '"ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1)1

2) 2

(3) 3

(4) 4

TR0 BT SIS DT AISd 'ASSURE' H 31ER R’ fpTd fom omarg 2

1. 3ATIS YU S SO SMagaad
2. JfferTHEal uiaHIiar ®1 sden sravgear
3. TS @1 WiaHIiTar S siawgesdl
4. AI1-TUd1 & ST 1 Savaddi

1) 1

2 2

3) 3

(4) 4

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]
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Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main
mvestigation

Statement II: The basic function of cumulative case studies is to make unfamiliar familiar and to give readers a comumon language about
the topic in question.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.
. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1 1
2) 2
3) 3

b =




(4) 4

e @ Py fag Mg @

FYA I GHO YHR (S59) S BT UTUTHS S G- -390 B 4 Usd UHl &1 [f5d &1 3R
IO & PRI BT 905 PRAT© |

DY 11 : G UHRO1 (S¥) HeAGA! DT MUiHs S 3[7d DI J1d ST AR [Tamd uy & ar ¥ e
% 0 U IHH YT U= ST |

SR HYA & i 1, 19 37U 710 fadedi ¥ 9 9ad 3 3R &1 997 SIo:

1. BYF 1 AR 11 SHT Tel g1
2. BYF 1 3R 11 I Tad g

3. PYT 1 el &, Afee- HUF 11 7Tad o
4. PYT 17T 8. A PUT 1 TS B

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]
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Given below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.

Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

11
(2) 2
(3) 3
(4) 4

EIECIERICACLRI e
FHYA 1 : TG UHT (SWAYAM Prabha) 161 TG0 $1 TH U8@ ¢ |

P 11 : DTH 96 W4 (SWAYAM) WHT E SRS HI & TR & [0 §9¢-30 3UUE 1 3TN B 3@ &
|

SIRIdd HUF & 3iaid 4, 19 Ru mu et & 3 9 I &1 9gH ifors:
1. PYTI AR I S A B
2. Y1 SR I ST 3 €

3. YT 1 T &, A S 11 3T 8

4. B A S, AfFT HUT I I B
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]
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Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # 1y,
where () and () are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II 1s true.

1) 1
(2) 2
3) 3
(4) 4

JH ey Rr M E:

FYA L TTel & o SiaR & U0 & (o0 I URSG o1 1 SR W 39 UHR SHoad f6al Sl § -
Ho: 1y % o, 1y 3R i, &1 SIS & HHR: TSGR A § |

HYA 11 : 719 Hiaexl B1¢ Uidewl 8 § SR SHied] JERUT 331 gid 8 U 99 0 o o1 8, 79 Y3
GRGTAT & YRIEUT & fo1U Z-Usiemn & Uged foar i g |

TR YT B 3l T, 9 37U 70 fdwedl § 3 98l SR &1 99+ o Ifeig:
1. PYT1 AR IS T o
2. BT AR 1 EH] T B

3. PYT 1 9 8, Afh Y 11 38 B

R

4. P AT 8, AP FUT 1 T B
1) 1
() 2
(3) 3
(4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]
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If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

. Quota sampling

. Convenience sampling
. Purposive sampling

. Random sampling

1) 1

(2) 2

(3) 3

(4) 4

afe Ue Wl o-ae ¥ ufdes] &1 904 59 UHR I S 91ed] & [ a0 Sae § Ud® 95 &f
Hfexl Ta & THF 3[aIR W Sidl 8, d 39 Y &1 Uiaes] 9o fFafafad § § aH-a g

1. BT ufdesl =7
2. giayTeHs uiaasl 997
3. FAIST Wi =90
4. Trefse Hidas] 98
@ 1
@) 2
3) 3
@) 4

b=

e s




1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]
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In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

1. transit
2. transported
3. translated
4. transcript
(1) 1
(2) 2
(3) 3
4) 4

ey gt SR are; ferult 3 T 7, st witeeal Garmner v 7 vahT R & o s & -

1. YRdgd
arfed

3fed
yfafafd

B

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]
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Given below are two statements:

Statement-I Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I 1s correct but statement II 1s incorrect.
4. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

J9 ey Ru M &

FYA 1 : HETAD XY [ARma: siitie SR gial 8, Jaid UdS Wiy § Y IUFH FRigarg 9 9
SRR EIATS |

B 11 : TS AR UMD 1 UHR & QY 3bS| &b TAIHI0 I HAUa gld g |

TIRIGI HY & el T, A< ST T fasedi T 3 g9 SUgad IR &1 997 DI
1B 1 AR 1 &H FEl 8

YA T SR 11 I T4 § 1

3. BY 1 Tal 8, Al Y= 11 7Tad ¢

4. YT 1TE 8, <l P 11 98l 81

@ 1
) 2
3) 3

[ ]




(4) 4

1[Option ID=19553]
2[Option ID=19554]
3[Option ID=19555]
4[Option ID=19556]
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A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the
student shall be :

1. Debarred from submitting a revised seript for a period of one year.
2. Debarred from submitting a revised script for a period of 6 months
3. Asked to submit a revised script within a stipulated time period not exceeding one year.
4. Asked to submit a revised script within a stipulated time period not exceeding 6 months.
1)1
@) 2
3) 3
(4) 4

Uo faendf fayfaemera srar o & faf o & S iR 3= STy Fee/ey WY vey § e TRkl &
TR 2 BT AR FaT e | 79§ I 50 siqrla faamdf =1 <5 fea s -

1. % 9 B 3fafy P o SN uigart oo o= 9 afold R a1 S

.6 115 @1 3aly & e Sfaq gt S & 9 afoid = fadl Jem|

Uy B HAlY P SiaR ST JrmmaEle T SRIied gy o S B el S|
.6 HIE I 3aftl & 3iaR SrI&fdd FHarafy H iU uiglaft a1 B3 &1 Sel g
1) 1

(2) 2

3) 3

(4) 4

N PV

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]
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According to Pierre Bourdieu cultural capital, through communication is for:

1. Political benefit

2. Military benefit

3. Trade benefit

4, Socio-cultural benefit

1) 1
(2) 2
3) 3
(4) 4

forR SifEy & SR, WO & Arend I Wi o doff I Faifra wa grars »

oI aH
gAY

. IR 14

. ISP -TRD D T
(1) 1

(2) 2

(3) 3

(4) 4

B O

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]
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Inter-personal communication is most often considered as :

1. Dyadic

2. Within oneself

3. Many-to-many

4, One-to-huge masses




1) 1
(2) 2
(3) 3
(4) 4

HqR-dufeae TUY0 U 59 39§ GO o1 | ;
1. QDI (SATS®H)

2. %0 H
3. 9SgA g Bl 3R
4. TP I fq2me S 9eEi i 3R
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]
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The mechanical model of communication is characterised by:

A. Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

1. A B and C only
2.B. C and D only
3.C.D and E only
4. A.D and E only

1) 1

@) 2

3) 3

4) 4

N B i Higw W) 3 favan g 2

A. Sgiay-ArTl vars
B. U&-AT yatg

C. T ¥ 3T DI 3R
D. 3T

E. ford a=fa g

i fGU U fdspetl O 9 9a€ SUga SR &1 99 Biford:

1. FaAA, B3R C
2. %adAB, C ARD
3.%ad C,D ARE
4. BFAA, D 3IRE

1

) 2

3) 3

(@) a

1[Option ID=19569]

2[Option ID=19570]

3[Option ID=19571]
4[Option ID=19572]
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Given below are two statements: |

Statement I : In communication, semiotics has the objective of deseribing how meaning is generated.
Statement IT: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement [ is false but Statement IT is true.

1 1

(2) 2

(3) 3

(4) 4

TR APy R E:
DU 1 : GUYUT T, Hohd (39 H SHPT aulF = BT SexG 61dl & 19 312 4 FPpTal A |
Y 11 : T8 HeI Gl § 19 Havd (G917 48 [l & 1 31 Sl U &1 mea HHia g |
SRIT HYF & 3faie 1, 1 U e fasedl & O 9l SR &1 90[ & IToTe:

1. B AR 11 &H FA &
. BYFT SR I G ST & |

3. ®YT 1 T 8, A% Sy 11 3T B

[ ]

4. BT A 8, AfpT SUT I IT B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
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Given below are two statements:

Statement I : Communication has the power to define, persuade and inform issues and events to the people.
Statement IT; Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement 1T 1s true.

(1) 1

(2) 2

(3) 3

(4) 4




JH ey Rr M E:

WF{%I - YN E 1T O I T g SR gersi o1 uRyiitd &3, 993 SR giad &3 &1 Wied Higa
Bl g |

HUF 11 : T AT i & Yo oA & =9 1 a1 9ol 92 Idl ¢ |
SIRIEd HYF & 3f1ei 1, -9 3T Y fashed] T 9 Hel SR &1 90H & To1e:
1. YA AR 1 aH §A B
2. BYA SR I T S
3. U 1 A 8. Tp DY 11 SHFA 5

4. DY ITA 8, AP FUT I T B
1) 1
@ 2
(3) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]
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Two old cars are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

4% loss, Rs. 4,000 loss
%o profit, Rs. 4,000 profit
3 o 1035 Rs. 4 000 loss
4. 2% profit, Rs. 2,000 profit

(4) 4

ﬁgﬂﬁﬁ@ﬁ@uﬁﬁaﬁmow@ﬁwm% | T 1 20% P AT TR §41 A1 © AR GH DI
% BT R SET ST § | P §U ATH/BIH WIRId & TUT Ard/eTH 31 od o= A1 J1d I |

. 4% BT, 4000 ¥9Y 14
. 4% TTH, 4000 9T &Y
59 BIFL. 4000 TTA T

2% TIH, 2000 39Y ATH

O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19581]
2[Option ID=19582]

3[Option ID=19583]
4[Option ID=19584]
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If 101 term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3, then find the first term of the series.

1. 16
2

.10
5

3

4.13
1) 1
(2) 2
(3) 3
(4) 4




ofe; forft waiaR 9oft udh aen & 1087 ug 34 § SR &1 <l T Ul & Teg SR 3 §, 79 @Al &
T UG Bl J1d B |

.16
.10
T
i
1) 1
(2) 2
(3) 3
(4) 4

b=

N S}

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]
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The average age of a committee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committee?

1. 39.5 years
2.41.2 years
3. 38.2 years
4. 40.7 years

(1) 1

(2) 2

(3) 3

(4) 4

10 el arell ot Siifa ot Sied 3y 42 a8 § | TP 53 99 1 311 arel I& YaT-ig gidl § 3R
U1 RH US 45 T4 & TP Y Yot §RI {01 a1 § | 31§ 59 75 9iifa & 3iad g fa g 2

30594
41299
.382 T8
.40.7 T8
1
@) 2
@3) 3
@) a

B O

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]
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Consider a two digit number. If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

-1 ©0

il
-1 Ln Je

[ Y
J= tin
[=s]

(1) 1
) 2
(3) 3
(4) 4

3l il &l G IR faaR Sifo | 9fe 59 Tem & Sid! & sieal-aadl @R 4 9idl 6. 99 s W< 9=
Ugd @1 (Hd) G801 3 18 BH g1 ol § | Al a1 & 3iepl &1 O 12 8, 76 Ugd &1 (Ha) el J1d iy
|




4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]
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In a certain coded language: (A) 'muj paa doda’ means 'bring me water' (B) 'paa jo toda' means "water is life’ ©
'Jo lin kota' means 'life and death'. Which of the following represents 'is' in that coded language?

A. 'Muj paa doda' @I 3ot fsfrr ot areR
B. 'paa jo toda' @1 372 G 5o AT
C. 'Jo lin kota' T 312 TEE TUS SU

3 Peag YN H FEfaRad 8 9 @1H is &1 Fefud axarg 2

aa
cota
oda
0

A

b=

=+

3.
4,
(1) 1
) 2
(3) 3
(4) 4

|

1[Option ID=19597]
2[Option ID=19598]
3[Option ID=19599]
4[Option ID=19600]
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"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It iz a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

1. A only
2. B and C only
3.B and D only
4, C only

1 1

(2) 2

3) 3

(4) 4




"X 12 &1 10 it 10 951 &1 Raeman | 3 @it < e 3 | | 318 g8 ey Fea a@dl §
%XW%@WW 3¥1a-%9 § g1 & [0 uTa® § 1" Suiad gfad & dad I Hafafad -9
FYTITE 2

A T R e T aha g |
B. 59 UfaicR Rfg dradheiv g |

C. U8 UP gee AT gfF g |

D. U8 U% HHGR HATHES giaa ¢ |

i fau e fas el 7 9 9l SUgad SR &1 99 Sifeld:

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]
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If the statement "all golf players are rich persons' is given as true which of the following statements can be
inferred to be true ?

A. No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

1.B and D only
2.Band C only
3. Aand D only
4, C and D only

1) 1

(2) 2

3) 3

(4) 4

gi¢ Sy g Tieh-Raares! ol afdd ¢ &1 Hel & U 4 401 711 8 a9 Fefiiad H-81 $Y= 9 g
& 39 Y FEIHG [ o 9&al g |

A B i Tiew fEare! ot afdd 78T & |
B. P Tep fGars! 4l afdi g |

C. T ol e e fEars! ¢ |

D. T Tlieh [Gars! 4=l sufead 9e1 ¢ |

4 fqu e fasedl § O 99 Suged SR &1 997 SifeE:

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]
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Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

1. No dogs are friendly animals.
2. Some friendly animals are not dogs.
3. Some friendly animals are dogs.
4, Some dogs are not friendly animals.
(1) 1
(2) 2
(3) 3
(4) 4

Fafarad O O S -1 e, gl S BEad IR & $Y- &1 TN g 2

1. @05 Y a1 fiFad IAR 81 8 |
2. P9 tHad TR FU RIS |
3. 9% TG0 AR PO & |
4. P9 P (400 THR LI § |
@) 1
(2) 2
(3) 3
4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]
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Which of the following statements are logically equivalent ?

A. Some fishes are not amphibians.

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

1. Aand B only
2. A, Band C only
3.A,Cand D only
4. Cand D only
1)1
2) 2
3) 3
(4) 4

frafaiEad BH-8 U dlfdbd &4 9 90ded © 2

A TF IORET SHTR A € |

B. T8 A ST E |

C. O Oaer] IR-BUTFIRE |

D. $® TR-SUTR, IR-ASa 61 6 |

1 fau T fas el # 9 9l Sugad STk &1 98- Hifeld:

1. Had A IR B
2. PTAA, B3R C
3.%ad A, C ARD
4. %adAC IR D

11

) 2

(3) 3

@) 4

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]
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"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above areument according to classical
Indian school of Logic?

1. Hill
2. Fire
3. Smoke
4. Smoky hill
(1) 1
(2) 2
(3) 3
(4) 4

"R YT udd R 4 3 | Fifds STgi 4a3if §iaT 8 a8l 9ad i §idl &, Udd WR 3axd gl 31 i g
zrr%u"%mﬁm‘cﬂamwé% 39R SWRIad gfed § FHHifard $H-91 98 9 (& U8) &
JOET B2

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

.8 GB
.16 GB
32GB
.24 GB
(1) 1
(2) 2
(3) 3
(4) 4

T R HeTRA i, SIHea PR T 4 TETEe 81 8 | 3HHd T 4000 *idi 1 AR e & RIFTIRA
BT Gl & | SHTHa DIt & M o1 1M arge & A 59 SR 1 BRI e 31 9ah $3
B SHTaRTHAT il |

g i g e

16 7T A8 eH
32 R aRed
24 7T ARew

1) 1
(2) 2
(3) 3
(4) 4

b=

da Lo

B O I

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]
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Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. Cand D only
4, Aand D only

1 1

(2) 2

3) 3

(4) 4

AETsd Gy & o fayeardt wWR WR 457 IHfda denfiiet & soft gafia denfe <ty S wfawnfia
B 31 | 5o gafid Aega vt & 9urer Tl § Rafafed § 3 surar wmita g 2

A. Se¥e ot vy §q it sid-areadr
B. SIS DI U T

c. A sfagy

D. To RR ¥ g R d& a1t fqeme

- fau e fowedl # 9 Hel SR &1 =9 DI

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

Sl. No.133
QBID:9201033

Given below are two statements: With reference to digital initiatives of Government of India.

Statement [ : BHIM is a payment app that lets you make simple. easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4




HRd TBR B 3P 1Y Ugad il & ey § 54 S sy R &

FYA 1 : AT SEUH () Ue U1 YA UU ¢ S 31US1 gHB1ES UHed U0 (gUIss) &1 Uai & awd,
IH AR gd YoIdER S 4l § |

BYF I : WY TeBT & AT Y Hed TSUshd gAan arTd W STa § |
QRIS DY & 3fTeiis 1, F1d U 710 fasedl § 3 el ST &1 957 BIe:
1. @Y 1 AR 11 &H I B

2. BUA T AR G A G

3. PYT 1A ©, b HYT 11 A B |

4. DY ITA 8, AP FUT I T B
1) 1

@ 2

(3) 3

(4) 4

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]

Sl. No.134
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Which one of the following acronyms is matched incorrectly with its full form?

1. BIOS - Bagic Input/Qutput system
2. PDA - Personal Digital Authentication
3. GUI - Graphical User Interface
4. WWW - World Wide Web
(1) 1
(2) 2
3) 3
(4) 4

e O 9 &= 91 Sl = o9 92 910 9 961 oie § o] Ham g 2

1. a2 3y - I e/ 33eye Red
2. 4ISiY - o fesiiea sirdifedm
3. ST - ANMHha oK 5eIPd
4. 550 54 56 - O¢S IS S g
@1
@ 2
3) 3
@ 4

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]

Sl. No.135
QBID:9201035

Identify the correct order of the following terms A-D to complete the sentences given below about digital still

and video cameras: Cameras that handle a higher number of will be able to capture more details than
those with a lower number. Images that are stored in a format have not been processed and will take up
more storage space than images that are stored in a format. The of your storage device determines

how many images vou can store.

A JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:
1.C.B.A,D
2

A D,
B:C,
D, B,

b-:“m

e
D
e

S %1




1) 1
(2) 2
(3) 3
(4) 4

feoitea fea ofR difeal $mR1 & Ty & 4 ared! & 90 3 & [y Fafifed ual A-D & 96! sipd
P UggH BIfoTU :

DI TR ST DI GUITH dTel HEX 3751 HH T3] ardll & qa-1 § S [Gavur i &=
o | U= # Heiivd sfagl &1 umHu 8t e g 3R d uR=g § Heifva sfagl
1 a1 H 3118 USRURIE Tl | 313 HSRU UG & eiied v g & sma fea-
B4y BT HSRUI B Il |

A, Sdigeft

B. JRUSSY
C. Bfiedd

D. &Hdl
i feu e fwedl § O 98! 3R &l 904 BT

POPS

i
bweEn
&
nOnd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19637]
2[Option ID=19638]

3[Option ID=19639]
4[Option ID=19640]

Sl. No.136
QBID:9201036

Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement I : 2010 was also the target year to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I 1s correct but statement II 1s incorrect.
4, Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
(3) 3
(4) 4

T &l P fRu MY &
HY 1 GG Y B ASTHUT - a¥ 2010 D1 SRIPIY Sa fafaerar oo ifva g |
U 11 : 2010 5 e gy i o7 forgw S g o g4 o faRm &l W1 -1 o7 |
SIRIT T2 & 3feie 1, 19 oy 10 fasredl § 3 Yad SUgad IR &1 997 Sifoi:
1. YA AR I aH Fgi g
2. FUF 1 3R 11 ST T B
3. U 1 He! 5, A HYF 11 7T6d ¢

4. BYF 1 71T &, AP U 11 Tal 5
1
(2) 2
(3) 3
(4) 4




1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]

Sl. No.137
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away. will have a light at
home.

Statement II : Mission of International Solar Alliance: Let us together make sun brighter.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but statement IT is incorrect.
4, Statement I 1s incorrect but Statement IT is correct.

(1) 1
) 2
(3) 3
(4) 4

TR I yEfems:
BYUA 1 : AP R WY BT =PI ([9): Ud® 9 H, 918 98 fdva11 1l R &1, UBRIgh |
BUA T : SITRIPI IR Y 1 27: 59 9a e R U Bl iR 31 SIitasH= oY |
TIRIGI HY D el T, A< ST T fasedi T § Gad SUgad IR &1 949 DI
1. YA R 11 &4 F8i g
A 1 AR 11 &I a8
3. BYT 1 el §, Al Y= 11 TTad ¢
4. BYT 1T @, i P 11 98l g

(1) 1
) 2
(3) 3
(4) 4

[ ]

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]

Sl. No.138
QBID:9201038

Full form of IPCC, a nodal ageney in the context of climate change, is:

1. Intergovernmental Policy on Climate change
2. Intergovernmental Panel on Climate Change
3. International Policy on Climate Change
4. International Panel on Climate Change

1) 1

@) 2

3) 3

(4) 4

AT URacH & G54 TP Had Tord! AU &1 A1 Fe S a8 2
1. SeTTaHed ier 3fF aemsie 3o

2. EeTa-Hed UAd 3 g He 99
3. SexAYHd UIe! 31 FasHe 9o
4. AT 499 314 FaisHe o

) 1

2) 2

(3) 3

(4) 4




1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]

Sl. No.139
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Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A. PMI (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3. Aand Conly
4.B. C and D only
1)1
2) 2
(3) 3
(4) 4

YR H a1g TUIad §9%19 (AQD) F MeuRur & i a1 3§ fird 3R a1d SH-31H § St gardf
B SMIRADAT Bl & 2

A.PMI (1 HIS®T ATEHR T HH 91 SRIGR & SO 1T ga1ef)
B. PM2.5 (2.5 AIG9H MR I & T SRI6R & B0 Tare)
C. PM10 (10 AISHH ATHR J $HF TT IR P HI01g gare)
D. TSPM (Fd Wafad S gard)

i fu 7Y fdwetl § 9 e SUgad SR &1 99 P

1. HaA A R B
2. HAAB AR C
3. Pad A IR C
4. %adAB, C 3D

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=19653]
2[Option ID=19654]

3[Option ID=19655]
4[Option ID=19656]

Sl. No.140
QBID:9201040

Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire'.
Statement 1T : Himalayan geothermal fields in India are also part of 'rim of fire'.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement I is incorrect but Statement II 1s correct.
11
@) 2
(3) 3
(4) 4




EIECICR T
FYA : 19y & HHR YT wd RE oF BER & =0 8 J1d IR-uwid U2 8 Safyd § |
BT 11 : YRA T et yardi &3 2t R o BrR &1 4 g |
SRIF DY & 3faie H, 1 f4U 1Y fadeul § 9 9ad 3ugdd 3R &1 997 SIet:
1. YA R 1 aH F8i g
2. B 1 SR I a1 Tad |
3. DY 1 HE! &, Al HYA 11 Tad &
4. BYF 1717 B, Tl PUA 11 HBI B

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]

Sl. No.141
QBID:9201041

In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat. Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

1. Shri Narendra Modi
2. Late Shri Atal Bihari Vajpayee
3. Manmohan Singh
4, Late Shri Chandra Shekhar
(1) 1
2) 2
(3) 3
(4) 4

fafir ereal iR Ssnfia wexi & & (oF & fayfased & o ot wfta §) & &9 siafea agm
AR ST FOFER! Pl §e1a1 & & AU TP YRT 48 URA A6 B 3T FafiiRgd ar-a gy
 fopar -

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19661]
2[Option ID=19662]

3[Option ID=19663]
4[Option ID=19664]

Sl. No.142
QBID:9201042

Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations,

Statement II: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II 1s true.
(1) 1

k=

JUES ¥V




) 2
3) 3
(4) 4

TS P fem:

DU : 5 1208 1M, 2020 BT SRS & STHR T 2040 T T2l SR 801 TRl (TA.5.3013.)
@I SgAYgD I & P 7167 G 81T SR JETR BIF A1Hih P1 0&d G- 81T |

B I : 75 T8 11T, 2020, BT SR & STAR, TGHNUS [RI&T Aed SFax (K81 H Tad ATHie
S{IUTA BT 26.3% (2018) H FGIDHR T 2030 TD 50% B DI A6 GHII |

SIRIad HUF & 3Meiie 4, 11 fu v fad i & 9 98 ok &1 9 Sifore:
1. PYF 1 3R 11 SH1 T B
2. PYT 1 IR 11 T A B

3. YT 1 I 8, Afh HYT 11 38 2

4. BT A 8, AT YT 1 IT I
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]

Sl. No.143
QBID:9201043

In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

1. A, CandE only
2.A B.CandE only
3.A.C.DandE only
4. A CandD only

1 1

) 2

3) 3

4) 4

T 1004 B, YRd fyfdemed deifiian & a0 gR1, $od oo dopiaid ayfaeradl §
fgfaiad gfvad amr =mear v -

A. foyfaenay & ol &1 ga-faaraRads

B. fagfa=ne e/ sfemyr & SR H ueiak]

c. Hi-e & g1d & RysTd &1 wadA

D. fayfaerey diHe & oR ¥ g

E. faufaemay 3 sl &t Taea &1 dl &1 HER §9H1

- feg e fawedt # ¥ I SugHd ST &1 954 P
1.Had A, C 3RE




(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]

Sl. No.144
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement II : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Couneil
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement I is correct but statement II is incorrect.
4, Statement I is incorrect but Statement IT is correct.
1 1
@) 2
3) 3
(4) 4

TP

B 1 : YR QRIS STHRT YRS (3715.91.01.3R.) B R 59 2010 T [AYGeme saM sman
@S FRI TP WEd @6 & Sgd &I s of |

DY I : gaxIale A 6 1095 H HETHT el APy Areiin e uikeg (@ ol e 3R 3.), gd TH g™
TTHIOT SR UREE (U .H1.31R. 3113.) B RITYA] TS Uoiidd W Gigel & =0 H 311 ot |

TIRIGI HY D el T, A< ST T fasedi T § Gad SUgad IR &1 949 DI
1. YA R I &H Fei gl

A 1 AR 11 &I a8

3. BYT 1 el §, Al Y= 11 TTad ¢

4. YT 1T 8, <l P 11 98l 81

1)1
(2) 2
(3) 3
(4) 4

[ ]

1[Option ID=19673]
2[Option ID=19674]
3[Option ID=19675]
4[Option ID=19676]

SlI. No.145
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4. Statement [ is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4




TR Iy m e
BYUA T : AP TG 1S (T1.41.0.) D1 R0 g ofl . gRI®1 715 2t |
BYT 11 : AP ATHTH AR YA URNS (T1.0.L) PRI T.3018 H.213. (AICTE) RIS TTg 4t |
JWRIEK HYA & 3HTeliep 1, - 3T 7Y fdbed] O O el 39gd 3TR 51 99 DIforg:
1. YA R I aH F8i g
2. B 1 SR I a1 Tad |
3. DY 1 HE! ©, Al HYH 11 7ed B
4. DY 1770 B, A YA 11 5% B

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]

Sl. No.146
QBID:9201046
Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity). then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on induetive reazoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

7 T T ufeu 3R WY &1 3R gty

HTERId: IS I WM ST 4 (55 FeTad § e aR 3 90 & [ 3 9a § | 3ae0 & &9
. afe 89 9Hd © o 0 avqU U SR B ([FdlHNUl & HRUN) SHHd Bl &, 76 sHD STIR 3&
W Fed R g o R TR | 9 3 AR 91 g9 difdeal of FImAes a1 & =9 5 o= S
© | aUIid SgeTsq JUNTeRI] &1 ARG RIA = alel HHT Sl @1 6] SFd 6 | 336U & ¥9
H, 50 ¢®d ¢ [ oo Y dflqar 3, vell s g SR Aq@ gl o 3 | ARE WAl MR SR & oA®
T&Ull & 51 I8 S I 96 o 19 Y&l U RIM 9 gHk ®IF &1 3R HaNTH &xd § | 89 Us I
oy [aeiad o= S@d § & gefl ThE & o aR UaeH $ed § | 3iHs Ul 3 99 5ad §91 3t
AT HFTHATED b1 Bl & | T SRTHATHS qeb-1 B YT FITHATHS dab1 diidbd &4 8 s
33 8, 78 qft BRIR 2141 € Od SR Y S 91 € | 3 B gHeH & iy g5 gg
ST dob1 IR R v § i e0R U Uis & sifderil Fam § |

Fufl-wilt adT & Ty €, 3G 5F ST aw A WKl & | 3@ aufaq WY H Siaely, JorTeddT,
HSURd R UG &1 B WHR B3 4 [d5d Bd § | TARI aiids Tgaqul @l & 4 50
Grol 95 d9e faftdl SR aXg-8 deRudl & SR 6! gg Sf1ud 39 BRUI g5 16 aidddi 39 fawai §
YIGQU &1 T 3 Adbdll BT S80I B I o il 3% AgaRil o] Bl SFETd T <E o |




Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement IT: Most important scientific discoveries are made only because of sound reasoning of the
investigators,

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement 11 is false.
4. Statement I is false but Statement IT 1s true.

(1) 1

(2) 2

(3) 3

(4) 4

-9 & P RRu MU &
BY 1 : Y8 72 FIHTED de-1 B 3aTeRUI & foh g&f § go- IR He Sl IR |
HYA 11 : Falidd Headyul dxi1i-1d @lol sadarst &1 f[a4ed (B14) -1 & SRUI gl gl uTdl ¢ |
SIRIe DY & 3fTeiep 1, 4 3T 1Y fasedl § J el SR 1 997 DIoTe:
1B 1 AR &H S B
2. BYF 1 AR ST TG

3. BYT 1 I 8, Afth HYT 11 3 B

4. BYT 1 AGA ¢, AP SYT 1 T 2
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=19681]
2[Option ID=19682]

3[Option ID=19683]
4[Option ID=19684]

Sl. No.147
QBID:9201047




Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific 1z known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and dizappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reazoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on induective reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.

o eI @Y Uy 3R Uy o1 3T 2oy

H1ERia: a9 9 B 4§ ey FeTd ¢ [oHe aR 8 d SHd © 19 d 97 § | 3180 & Y
o, 3% &1 WM ¢ [ RIE TEU U8 g8k &1 (BNl & PSRN AN Bl 6, 98 SHP HTIR g4
¥ Fed R U9 oHH R TR | 9 3 AR 91 59 difddal & FIEATE® dd-1 & =9 5 o= S1al
T | duIiy agur gq JuTTeral &1 ATTGEiH S arel S S| $1 g1 oFd § | 3aIgRul & &4
H, §9 39 ¢ o oG- o ffqa 8, Uell 311 € SR fagw 81 9 ¢ | fafls WMl RaR IR & sHd
&0 ¥ B1 T8 STHH O 9 © 19 &1 TP I § GH R B 3R SHaRTHH 33 § | 89 TP 9
oo i o= Tavd € 13 vl T & S UR Vo= $Rd © | 3 Heol 9 9 | §99 @
ThH1 STHATED db1 Bl & | T SFHATES a1 B SUgT FTHAE® qo-1 diie® &9 1 s
4% . 78 a1l SRR &Ia1 § o/d SR FHI B Hol ol | §-01 & G99 & [0 gH agel
AMTHATHS dd-1 R 1R $d € it saR o Uis 9 sifderil Fam g 1

- FU a1 & A G, SAde 38 SR a o il § | 3P aaiad XY H Sidely, goreadr,

e erd 3R U DI WIPR B T [a0e T8d ¢ | SURI Halive neayul gl ¥ 4 o
Giof 9y Ao faferl 3R a¥gi-g TeRidl & PRUI el §3 SHfUg 39 PRUI §s & Sraedl o fawdl o
YIGqU i TR 3 bl BT STHR0I B e o Tl 39 Aedlil aq-D] Bl ST TR ¥ |

Given below are two statements:

Statement I : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement [ is false but Statement IT is true.

1 1

@) 2

(3) 3

(4) 4

=i &1 pu fag e &
B 1 : TE STHM, 1o gafl T & S8R WG9 $d 8, FRHHIES do-] BT 3EeRU © |
YA 11 : FRTHHTETS ddb11 SR Je Bl © |
JIRIGd HY o AP H, -d 3T 7T fawed T N Fe] SR &1 98- S IToid:
1. B AR 11 &H FA &
2. BYF 1 R I EHT ST B

3. ®YT 1 T 8, A% Sy 11 3T B

4. BT A 8, AfpT SUT I IT B
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=19685]
2[Option ID=19686]
3[Option ID=19687]
4[Option ID=19688]

Sl. No.148
QBID:9201048
Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity). then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on induetive reazoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Which among the following play a role in achieving success in research ?

A. Reasoning
B. Insight
C. Luck

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
A and C only
A, Band C
1)1

(2) 2

3) 3

(4) 4
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(3) 3
(4) 4
1[Option ID=19689]
2[Option ID=19690]

3[Option ID=19691]
4[Option ID=19692]

Sl. No.149
QBID:9201049
Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific 1z known as deductive reasoning.
Often. however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and dizappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on induective reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer, Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment. but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements: One 1s labelled as Assertion A and the other 1s labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R iz not the correct explanation of A,
. A is correct but R is not correct.

. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

4) 4
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=19693]
2[Option ID=19694]

3[Option ID=19695]
4[Option ID=19696]

SI. No.150
QBID:9201050
Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity). then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A. Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

A only

B and C only
Aand B only
A BandC
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1) 1
(2) 2
(3) 3
(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19697]
2[Option ID=19698]

3[Option ID=19699]
4[Option ID=19700]




